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Topic:- Grad_Nutrition and Health

1) Which of the following people are least likely to need a vitamin/mineral
supplement?/ 398 9 = diit & faerfiq/@f e S@Re o1 smazgear g4 &t IriTaAT
T $H 8?2

1. Pregnant or breast-feeding woman/ Mgt a1 T B @ Wl

2. Vegans/ Y& RMBTIERT

3. Male athletes/ J>¥ (WIS

4. Dieters on restricted energy intakes/ Hiftra Soif g R Id Q%’, ST & Ig AT

Correct Answer :-

« Male athletes/ Y3¥ qyciie

2) Which of the following should a woman avoid while she is pregnant?/

miadt W # THfaRr & R 39 I fFaR g9 Tifee?

1. Smoking cigarettes/ e di

2. Inadequate prenatal medical care/ Kilepsiee) W’q’—qﬁ fafeaita TayTa
3. Being under 20 years/ 20 ¥ § &1 S

4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3Iudad



Who are the beneficiaries of National prophylaxis program for prevention of

blindness due to vitamin A deficiency?/ faerfiiq A & &1 3 81 el =T $t
APUM & AP IMRIY SRIBH & AU DI &2

1. Pregnant mothers/ Tadt AT

2. Old age population/ g&oIq

3. All children from 6 months to 6 years/6 Hlg 6 ¥ db & Tt T2
4. Adolescent girls/ fiteat

Correct Answer :-

« All children from 6 months to 6 years/6 AT ¥ 6 94 d& & It 5=

4) Disease prevented by immunization is known as:/ UfaRe&ft®ur d o9 I+
JAHYUTH Bt & 2 FEd o

1. Vaccine Prevented disease/ Jaii- fRIfR I

2. Prevention of Non communicable disease/ 3{eRURIE I &t AHUTH
3. Prevention Nutrient deficiency/ Y ddl Pl HH! BT ABGUH

4. All of the above/3Iudad Tt

Correct Answer :-

« Vaccine Prevented disease/ I R I

5) Following are the main causes of PEM amongst children:/ =i § PEM &1
q&T SRV T 82

1. Delayed complimentary feeding/ TR& 38R ¢ H fddid

2. Infection and Infestation/ Il Td T4
3. Primarily Energy deficiency/ Wufi&d: Sl & HH!
4. All of the above/ B“q?i?ﬁ gt

Correct Answer :-

« All of the above/ B“Cl?ifﬁ gt

6) Which vaccine is given according National Immunization Schedule after 6

weeks of Birth?/ Ity uferafie<or Srfsa & AR F0 & 6 HwWIg 916 HIF-HT
AR T ST 32

1. DPT

2. OPV



3. BCG if not given at birth/ BCG, af¢ 51 & 9Hg 9 fear mar gt at
4. All of the above/3udad It

Correct Answer :-

« All of the above/3Iudad Tt

7) The energy requirements of a lactating woman is based on energy needed

to:/glqumwaﬁw%mﬁwﬁamw ¥ fou smawge Sef W emerfyd
gl &:

1. Maintain weight and body composition/ YR Td TRR HT o HIAH @+
2. A level of physical activity/ RIS Tfafafedl & T TR

3. Breastmilk production/ Wgﬂ% SdlaT

4. All of the above/B’q?j,EH ekt

Correct Answer :-

« All of the above/3Iudad Tt

8) What are the common diseases caused by Viruses?/ faurusif & g9 arat 3ma
IR FT 72

1. Hypertension/ 3= Ydddld
2. Diabetes/ GYAE

3. Obesity/ HleTd

4. Hepatitis/ %ﬁ?lgi%ﬂ

Correct Answer :-

« Hepatitis/ gUeTgfcd

9) AIDS is contagious disease:/ TS U JHIH® I 3|
1. True/ Tl

2. False/ TTdd
3. May be/ R0q
4. None of the above/ SR T I ﬁ'sc:lﬁ

Correct Answer :-

e True/ ?I%’[



10) Personal protective equipment important for health care worker to be

worn while in tuberculosis ward include:/ Wﬁw s § WY Hrdwdal &
SN SafeaTd YR&T IUBIUT Ug- A1iee 34 Wi @

1. N 95 respirator/ N 95 IR
2. Surgical mask/ gl AR
3. Both of the above/ IWiad G
4, Kitchen apron/ @'sc?ﬂ T4

Correct Answer :-

o Both of the above/ RUCIESRAGI

11) A pharmacological dose (mega dose) of a vitamin is defined as an intake

of more than:/ fdeIfiq & wHiEATNEd GRS (AN GIIH) 6 ¥ 3iftrs &
=TUgul & ¥q H yfeuTia far @

1. Two times of RDA/ RDA & &R
2. Five times of RDA/ RDA & Uid TH
3. Ten times of RDA/ RDA & &d TH

4. One hundred times the RDA/RDA & St {ﬁ

Correct Answer :-
. Ten times of RDA/ RDA & &9 TH

12) As per ICDS scheme the calories provided through nutritional
supplement scheme to children till 6 years of age:/ ICDS YIS & IR, 6 CL
TH & ol B RSP WYUT o1 & q1ead | &t 9 arelt aal s A 8

1. 300 kcal/ 300 fHadraR!
2. 700 kcal/ 700 fraidmat
3. 100 kcal/ 100 f&aipant
4. 250 kcal/ 250 fHarmaRt

Correct Answer :-

« 300 kcal/ 300 fraipart

13) Deficiency symptoms such as respiratory infection, gastrointestinal
disturbances and blindness are related to the role of vitamin A in:/ Tdd94 dd



& BT, TSR TSISAT 3R ST S YAdT P AT ¥ fYerfiq A &
YfireT A TR 8

1. Promoting growth/ ?{@ ol deldl aA
2. Maintaining healthy tissues/ W &dd AT @G
3. Acting as antioxdicants/ TUSI3IRitee & ¥U H &1 B

4. Blood clotting/ I &1 YaPHI STHA

Correct Answer :-

« Maintaining healthy tissues/ WX &Hddh dHIU G

14) An example of complete proteins is:/'\ti'l]:Uf U 3T TP ISEI 8:
1. Egg protein/ 30S HT UIeH

2. Wheat protein/ ﬁE CAR iG]

3. Maize protein/ HdhI &I IR

4, All of the above/B'Clﬁ?ﬁ it

Correct Answer :-

« Egg protein/ 303 HT UicH
15) In acute diarrhea:/ dt&ur &% #:

1. There is bacterial and parasite infection through contaminated food and water/

IEd UIoH Ud 51d & A1y I Siarpsif 8fiR uRelifaal &1 e g1 ofrdl §
2. There is PEM and deficiency of B complex/ PEM BId1 § 3R B BT Bl HH Gl %’
3. Celiac disease/ Hifeae® I

4, Lactose intolerance/ada\ﬂ Sl

Correct Answer :-

« There is bacterial and parasite infection through contaminated food and water/

T5d HISH Td 51d & ATed § Shargsii iR Rehiadl &1 HehHul g1 rdl §

16) The recommended dietary allowance for iron for a pregnant woman as

per ICMR 2010 is:/ ICMR 2010 & 3R THadl Wl 3g AMRA B RiRTa e
Ifd &

1. 35 mg / day/35 firn/feA
2.25 mg / day/25 fimn/feq



3. 45 mg / day/45 f&Rn/fea
4.20 mg / day/20 fimm/feq

Correct Answer :-
. 35 mg / day/35 f&n/fea
17) CANCELLED

Which statement stands correct with regards to following a vegetarian diet
and breast feeding?/ THTER BT YA HA 3R FAU TR & = | 370 J HIA-

T HYF ! 8?

1. A vegetarian diet that contains dairy or eggs is usually complete/ g¥4/q%® el 3R
3UE | Yod WHTER AR TR guf giell ®

2. Vitamin B12 supplements maybe needed/ faerfiq B12 W P HTAIDHAl TS bl g

3. Include foods that are rich in protein, iron and calcium/ 1:h?°]=r, MR 3R S Bt
YRUR T a7 Wre U =i o

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ Iudad Tt
18) Complete the following - ICMR:/ ICMR &T JRT ATH §dT¢|
1. Indian child monitoring rate/ ST ATgcs AN I (HRAOY d1d FIRHT &)

2. Indian council of medical research/ sfst BT 3w nfeed g (un-cﬂaﬁrmm
ST URug)

3. International child mortality rate/ ScARFd AT HIc[oIc] ¥ (&W@HWHR:{ET)
4. None of the Above/SUdad § ¥ HIg gl

Correct Answer :-

« Indian council of medical research/ 3f$ad ST 3w Afswa e (VR fafewn
SR URwe)

19) Which of the following is a communicable disease?/ sﬂ'ﬁ I ?ﬁ?t{iﬁ
TERORIE AT 72

1. Rickets/ Rarcq
2. Scurvy/ P
3. Marasmus,/ IRIAY



4. ChoIera/%TrlT
Correct Answer :-

. ChoIera/%TrlT

20) B-complex vitamins and ascorbic acid can be broadly classified as:/ B-

P faerfiel ok GRifd®e s &I 3t Joft & ¥@n &1 wodl 6
1. Insoluble vitamins/ 3gaHRid fdeTiiE

2. Fat soluble vitamins/ ddI H gﬂﬂ&ﬂm foerim

3. Water soluble vitamins/ Sl § el fdeTiid

4. None of the above/ IWidd § ¥ HI ol

Correct Answer :-

. Water soluble vitamins/ Sid & ge-siie faerfam

21) The most common manifestation of carbohydrate malabsorption is:/

Pralgrgec PUITU BT I MW UHed o
1. Malaria/lilﬁﬁ'ﬁﬂ

2. Typhoid/ C®IZS
3. Lactose intolerance/ aﬁ}aﬁf STl

4. Fever/dUdR

Correct Answer :-

« Lactose intolerance/ éaav:r gl dl

22) Vitamin K deficiency is possible result of:/ faerfi{ K & $# 3990 I fHad 8t
Tl &

1. Kidney disease/ 11%’:'33 AT

2. Antibiotic therapy/ Tociamifcs fafdan
3. Presence of Phytates/ TIee &I IufUfa
4. Insufficient intake of citrus fruits/Ricq (g, TawT, Arwal onf]) wall &1 sgafa a4

Correct Answer :-

« Antibiotic therapy/ T0eiamiice fifdam

23)



Hormones responsible for positive pregnancy test:/ IbRTHD TH T T &
forg Sverdt gfai

1. Estrogen/ TR

2. Progesterone/ USReR(—

3. Follicle stimulating hormone/ Hifd@d TG gMHMH

4. Human chorionic gonadtropin/ gdH CAIRRIIE Jilalélahvieﬁq

Correct Answer :-

« Human chorionic gonadtropin/ gdH+ SAIRKIIE G Jilalélahvleﬁ:l

24) Dietary factors which increase iron absorption are:/ | \’rﬂ?‘lﬂ'q PR Sl
TR AT 9T 39 &

1. Ascorbic acid/ QFFT% ST
2. Animal proteins/ Ug] WicH

3. Optimum gastric acidity/ 3THRR &1 3o day 3l
4. All of the above/B’q?EIEH ekt

Correct Answer :-

« All of the above/B’q?j,EH ekt

25) Gestational weight gain is influenced by: /THARITHTAA HIR q@ I
wyyTfaa gidl &:

1. Food intake/ HIoH & Iaq

2. Level of exercise and energy balance/ &AM & ¥R 3R Sl NESE
3. Medical condition/ fafeiig (@T)@Iﬁ

4. All of the above/ Iudad Tt

Correct Answer :-

« All of the above/ ITdad it

26) What are types of malnutrition?/ 378 d $UINY & UHR P 82
1. Over nutrition/ I I 3{f%H TIyor

2. Under nutrition/ ITHNI ¥ &H TN

3. Both of the above/ IWRIad Eﬁ:ﬁ



4. None of the above/ IWRIgd H A Eﬁ'ﬁ‘ﬂ?’f

Correct Answer :-

« Both of the above/ RERCSRAR]]

27) Inclusion of at least 50 grams of GLV improves intake of? /FH-J-FH 50
UTH GLV Md & | BT ATV 9gaR & 9Tl &

1. Vitamin A/ faeifia A

2. Iron/ 3TORA

3. Calcium/ FicvraH

4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

28) What are the important aspects of Personal Hygeine?/ Sf&iTd WW3dT &

wEwayul Uge I 82

1. Washing hand before eating food/ HISH & T U8 g1y 8T
2. Bathing daily/ ST T BRAT

3. Wearing clean and washed clothes/ 9T g H?IEEW AR
4. All of the above/ I0dad i

Correct Answer :-

« All of the above/ I0dad it

29) Immunization is one of the important strategies to combat:/ ufavefie o
__ A © TP "YUl JUFI 8:

1. Malnutrition/ HUINUT &1 HhTael B

2. Children are protected from diseases/ I T AT DI Bl
3. Both of the above/ IWiad G

4. None of the Above/ B“Cl?i?ﬁ =i ﬁ"s‘ T8l

Correct Answer :-

o Both of the above/ RUCIESRAGI



30) Certain environmental conditions can harm the healthy development of a
baby during pregnancy, have most detrimental effects during of

pregnancy./ $© Tafarvity fRufeat Tufaxn & R Rig] & Wy fasrg ot eifa ugen
Tpdl &, ITPT HAITUP SIPRD UHTT THIGRIT & fFg =RoT & BT 8-

1. Foetal stage/ TS srg=y
2. First 3 weeks following conception/ THYRUI & §1¢ & Ugd 3 TS

3. Embryonic stage/ YUITAR|T
4. None of the above/G'CIﬁEH T3 Tﬁ'sc Tl

Correct Answer :-

« Embryonic stage/ YUITaRI

31) One of the most important advantage of immunization to children is:/

T=l & ufeRefievur &1 U a9 Agayul ary:

1. Death from dreaded disease/ R AT H G B AHYUH
2. Prevents diabetes/ Hﬂﬂ'&' B ADUH

3. Prevents common cold/ 3TH Jel-J&h B AHUH

4. None of the above/IWRIad ¥ ¥ ®Is g1

Correct Answer :-
. Death from dreaded disease/ TaRAIH AT ¥ G Dt AHUH
32) After getting a vaccination:/ AR [ F T16:

1. The body never lets the same virus into it/ TR I faUTY] 1 ¥qd § Hofi-1ft SaRT o=
T B AT R

2. The body always becomes ill for a short time/ TR THIM Urs T THT & o SR &
ST ®

3. The body gets used to a weaker form of a virus/ TRR ﬁTSITUl & Giﬁé'dm HUGR &Y BT
31T g1 Tl §

4. None of the above/stlff I aﬁs‘ H%ﬁ

Correct Answer :-

« The body gets used to a weaker form of a virus/ IRR AN & 3U&THd HHSR T &I
3T B I §

33) Which of these are single vaccines except?/ 394 3 f&d Sis®? 3= It
Rivrar dRA= 72



1. Hepatitis B/ feUecrsfed B
2. Chicken pox/ 99 (fad+ diaw)

3. Influenza/ TURIUSIT
4. MMR

Correct Answer :-

« MMR

34) Which of the following is National Deficiency control program?/ 378 o

i, I =gean e sriwa 372
1. National Anemia control program/ W@HWW HHH
2. Special Nutrition Program/ fa=I¥ giyur &1d%yq

3. National food for work program/ TI@?T HTH- B -TGA- 3T HIIHH
4. Composite Nutrition Program/ IfRI% 09Ul HRI%H

Correct Answer :-

- National Anemia control program/ ISt Y&ITeddl a0l HRiGH

35) An important nutritional problem affecting all segments of the population
in general and children, women and pregnant women in particular is:/ qryor 9

TERIG TP Wyl THWT S THTd: S-aT & gH @l @) ok faRiv &u 3 a=i,
afgarait 3k mfadt nfgansi w wwrfaa w=< 8:

1. Anaemia/ XadTeYdl

2. Goitre/ HdT (TgeR)

3. Diabetes/ H?;[ﬁ"e{

4. HyperIipidemia/E!TCrCITﬁflﬁ;sﬁﬂT

Correct Answer :-
« Anaemia/ Y&dTeddl

36) As per ICMR 2010 what are the dietary recommendations for beta-
carotene for an expectant mother?/ ICMR 2010 & 3R, THad! Tt & forw dter-

P P ety srgrfy fpait g2

1. 6400 micrograms / day/6400 g/ fea
2. 8000 micrograms / day/8000 HTShRITH/ e
3. 5200 micrograms / day/ 5200 A3 ITH/feA



4. 4800 micrograms / day/4800 ATSHRITH/feA

Correct Answer :-

. 6400 micrograms / day/6400 HATgHRTH/ A

37) Third trimester is main time for storage of:/ dI¥_! faATEt & YUSRUI
P YT 9T §:

1. Iron, fat and calcium/ 3R, T9T 3R Hicad

2. Iron, calcium and folate/ 3MRRA, SR 3R Hide

3. Vitamin D, vitamin K and fat/ fae1®= D, faetfiq K ik g
4. Fat, calcium and folate/ 99T, HfeqaH 3R Hide

Correct Answer :-

. Iron, fat and calcium/ 3R, I9T 3R Hicaad

38) What are the measures taken by government of India's policy for
prevention of Vitamin A deficiency?/ e A # sl S APUm & fore yRa
WHR Bt Hifa o T Iurg foeg 7w §2

1. Promoting consumption of vitamin A rich food/ fdei#= A q JH& HISH & ¥a- &l gerdl
C5ll

2. Administering supplemental dose of vitamin A/ faeti A &t PREZRENE o

3. Treatment of vitamin A deficient children/ faertm A 31 4 I I= BT STIR BT
4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/EﬂPjGﬂ gt

39) In Measles vaccine immunity develops after:/ TR P AR A F
q1¢ ufaren fawiya gidt 31

1. 11 to 12 days after vaccination/ Ti®I®0T & 11 ¥ 12 A 918

2. After 1 month of vaccination/m F 1 Hlg diq
3. After 15 days of vaccination/ Sl®I®RUl & 15 fed 91
4. None of the above/ Gq?iaﬁ =i ﬁ"&g:l"{ﬁ

Correct Answer :-

« 11 to 12 days after vaccination/ e & 11 9 12 iAd1g



40) What are Non communicable diseases?/ 3RIARUIRIE I AT gId 82

1. Do not spread from an infected person to another/ Sl Td Hehfiid fdd ¥ gaR HAfdd
I T8l e

2. Pathogens are not involved/ fSH ToH® (BUsH) 2nfad F&l gl

3. These diseases may be caused due to dietary deficiency, hormonal imbalance,

gene%c problems/ d 7T ST SMERIA AT, GTHM SRAeH, SATIARIS THRINSH & SR 1
ghd ©

4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt

41) Flourosis manifests mainly as:/ RIS qeqd: ¥ ¥q H UPHc gidl %:
1. Dental fluorosis/ &< (Scd) FARIRT

2. Skeletal fluorosis/ HHTAT (Thalcd) FARINRTT

3. Both of the above/ JWRlad G

4. Cardiac fluorosis/ gad (EIO‘I'%CW) FARITR

Correct Answer :-

« Both of the above/ RERCSRAR]]

42) Fatty acids essential for prevention of coronary heart disease:/ gad e

I Pt AHUH & Y sMazas a7 3 &

1. Linoleic acid and linolenic acid/ fomifere s 3R forafRe ora
2. Triglycerides/ CT3eRISSH

3. Trans-fatty acids/ ¢i-a4T 3fkT

4. All of the above/ B“q?i?ﬂ gt

Correct Answer :-

« Linoleic acid and linolenic acid/ oot ond 3R forafe ond

43) Activities, undertaken at the Government or local organisation level to
maintain health of the people (for controlling diseases) are known as:/ (ﬁ"ﬁ

BT fra=aur 3 & fIT) AN & WA & REVT 3 RPN AT VI TSI & ®WR R
Ft 9 arelt nfafafiry «t $8d o



1. Community health/ STHGIR® WY
2. Occupational health/ TdHTHd IARY

3. Institutional health/ SRINTd WY
4. None of the above/G'CIﬁEH e Tﬁ'sc T8l

Correct Answer :-

« Community health/ SREIR® @Ry

44) National Rural health mission was started in:/ ?T@'q reior 9=y freE
H R faT T UI-

1. May 2004/ H% 2004
2. June 2006/ S 2006
3. April 2005/ 30 2005

4. January 2007/G|:|T:|ﬂ 2007

Correct Answer :-

. April 2005/ 3d 2005

45) Heating or drying of fresh fruits or vegetables usually leads to
destruction of most or all of which vitamin originally present?/ dTdll Wl g

gfowal & T F a1 GEH | AR W 390 A SiF-971 faerfiE, ot ey § sufRua o,
firpiwra: a1 gt O AT 8 ST 82

1. Vitamin A/ faetfiq A
2. Vitamin C/ fqerfiq C
3. Vitamin D/ faeTf®= D
4. Vitamin E/ﬁ?‘lﬁl’[ E

Correct Answer :-

« Vitamin C/ faerfiq C

46) Which is a limiting amino acid in pulse?/ gral # TR it ena wia-|T
g1 32

1. Methionine/ A=
2. Lysine/ AR
3. Tryptophan/ EQ ]



4. Phenylalanine/ BH@Ea-=

Correct Answer :-

« Methionine/ AR

47) During the first six months of lactation the ICMR has recommended

additional intake of:/ ICMR A WU #RH & IRAF T: AL & SR &
Sfafved a9 F =T 1 &

1. 600 kcal/600 fHardmat
2. 700 kcal/700 faraibant
3. 650 kcal/650 faraibant
4. 800 kcal/800 faraibart

Correct Answer :-

. 600 kcal/600 fradaRt

48) A natural biological process involving cellular and physiological
deterioration, increased vulnerability to disease and decreased ability to

adapt is known as-/ 98 Wigfa® sifae ufear Rad SR vd ¥R frarae g™
BT 8, T & ufd SRRféraar 9¢ 9Tl 8 8k 3@ ad &t Jgdr Ue Srd! &-

1. Ageing/ SIRUT (1Y §e-T)
2. Growing/ q@

3. Multiplying/ dguH

4. Maturing/trﬁ'CIW
Correct Answer :-

« Ageing/ SRUT (3T §e-T)

49) Adults require energy and proteins for: /UID] Bl a?ﬁlt{m'f Td
W B razgswdr gl 8:

1. Maintenance and continuation of optimal metabolic and physical activities/ 3ugad
T U9 RIS TAfafrl & I@R@d Td 31 IR} 3@

2. Maintenance of biological functions and repair of tissues/ Sfdd® BRI & IW@IG qUT
SAadb! B IR

3. Both of the above/ SWRIad &l
4. Growth spurt/dfg ¥ dia-dg § 314 a1 I8Td




Correct Answer :-

e Both of the above/ RUCIESRAG]

50) One approach of preventing Vitamin A deficiency in children is educating
the mothers to feed their children daily with:/ g=ii § faerffqa A @t &4t ot
APYTH B B TP Ugfa g ST Ararsii & 3= g=if ot faeH & fau
fféra s

1. Wheat/ ﬁﬁv
2. Rice/ dldd

3. Green leafy vegetables and yellow and fresh fruits/ < TtieR Ifesar 3R did @ aren
Hmd

4. Maize/HdhI

Correct Answer :-

« Green leafy vegetables and yellow and fresh fruits/ g% TR gfesrdt 3R did @ aren
T

51) They are also used for the formation of body structure and skeleton:/ 5%

IR A W1 ¢4 Hopra & fafor & fog +ff yakT far e &
1. Minerals/ G|

2. Vitamins/ fderfaq

3. Fats/ddmq

4, Carbohydrates/ Eb‘lﬁ%ﬂé‘c’

Correct Answer :-

e Minerals/ Qe

52) Caesarean section is performed when?/ Hdreifvaa A= a9 forar Sran g S92
1. Labour is extremely difficult/ Td 3fAfd® Hio &
2. Mother's blood pressure falls rapidly/ ATdT &1 Iaaddrd deil ¥ TR @1 81

3. Foetus is too large for the mother's pelvic opening/ ATdl & HITOMEE &1 eF I miwr fREy
BT HTHR dgd §l 8l

4. All of the above/GCPjTﬂ ekt

Correct Answer :-

« All of the above/T:FCPjaﬁ ekt



53) The science of food and it’s components, their actions, interactions and
balance within the body, it’'s utilisation for health and wellbeing is called?/

YIS 3R ISP Ted!, IR F 3z 39! fparsd, sraftharsit aur Gwga-, wW@rey vg
AT & T ITF IuT & fag &t Fed o

1. Nutrition/ TIyor

2. Absorption/ SGRIYT
3. Digestion/ U4

4. Utilisation/JUdIieRul

Correct Answer :-

« Nutrition/ TS0

54) Which one of the followings is a water borne disease?/ 3H 9 P TP oA

arfgd I7T 82
1. Tuberculosis/ a@W@m
2. Malaria/tlﬁﬁ'ﬁﬂ

3. Cholera/ %\‘rﬂ
4. Chicken pox/ EEr

Correct Answer :-

« Cholera/ g1

55) CANCELLED

What all is true about milk, except:/ g4 & Ta~ ¥ T 919 L 82

1. It is low in iron but rich in calcium/ TH RRA B! HH TR~ HIeqdd HI 3HfUFH AT Bt §

2. The main protein is casein and lactoalbumin/ S q¥] T HH 3R ?Idc\chfgﬁ-H g

3. The main carbohydrate is lactose/ U] B Ohldeli‘I%c e §

4. It is rich in vitamin C/ 9 faeIf®F C & WRQR 961 8t §

Correct Answer :-

« It is rich in vitamin C/ SUH fqeI® C ®T WRQR 96 Bt §

Topic:- Grad_General Knowledge and Logical Ability

1)



The most abundant carbohydrate present in blood is:/ HTd TR | Faifd oI 4T mwéa
Ul a1 3

1. Glucose / W
2. Lactose/ AIgerg
3. Starch/ L]

4. Cellulose/ @Iﬁ?ﬁﬂ

Correct Answer :-

e Glucose / W

2) The scheme MGNREGA comes under the - / TG FioT (A% & & fohereh siaeta smar
&7

1. Ministry of Panchayati Raj / 9=t T 43T

2. Ministry of Rural Development / ITHtor faeme w=merT
3. Ministry of Social Justice and Empowerment / HTHTISTS =73 i< SATERTIAT HATAT

4. Ministry of Finance / fa=t w=merr

Correct Answer :-

« Ministry of Rural Development / Imior & w3

3) How many squares are there in the given figure?/ & 73 3&fa ¥ foran i 82

1.7
2.12
3.10

4. 8

Correct Answer :-

4) A sum of Rs.7, 000 is divided among X, Y, Z in such a manner that the
shares of X and Y are in the ratio of 2:3 respectively and those of Y and Z are
in the ratio of 4:5 respectively. Share of Y (in Rs.) is:/ ¥Ud 7,000 & X, Y 3R Z
& U 3 YR fquTiora it 78 3 f X iR Y & vl &1 srqura o= 2:3 qUTY iR 2 &

i #Tqua pa: 4:58 1 Y PR @. H) &



1. 2400
2. 3000
3. 1600
4. 2000

Correct Answer :-

« 2400

5) In which year was the Swachhta Udyami Yojana launched? / T&=gar 3=t
TJISTAT HT STTFA HIAH TG o a2

1. 2012
2.2013
3.2014

4, 2015

Correct Answer :-
« 2014

6) Which of the following option is not true about the Prevention of Women
from Domestic Violence Act, 2005? / =T @41 & wigam @ sitarfaaw, 2005 avaweft
e & & Fiar T a8t 781 82

1. Both mental and physical harm is included in this Act / =& srfaf=aw & gmtas vd
AT ST T AT §

2. It extends to whole of India except Jammu & Kashmir / 7g sfafaas s+ T Fewie
BIEHL ST AT | A6 &

3. Both of these / 3IU<I=k a141
4. None of these / 9% & FIE 7l

Correct Answer :-

« None of these / zA% & FIE 7l

7) What is the newsletter of the National Commission for Women called?/

TTETT AT STHWT F FaATE T 7 ATH FAT 82

1. Mahila Rashtra / @fg«r g
2. Mahila Shakti / wfgT erf<r

3. Rashtra Mahila / T1g wfg=r



4. Rashtra Mahila Shakti / T1g wifgaT erf<r

Correct Answer :-

+ Rashtra Mahila / Trg \fgaT

8) Which of the following is the default page setup orientation of slide in

PowerPoint/ 8 #f @ &9 91 TR & § Wiss & fewiee gy desrm NNER=M @:
1. Vertical/aRfedpd

2. Portrait/dice

3. Both of the above/ STRIG Gl

4, Landscape/a?,ﬁv'q

Correct Answer :-

. Landscape/a?,ﬁv'q

9) How many members should a Child Welfare Committee have? / a1 FIT0T
Tfufa § fohaw geer g9 I1igu?

1.3
2.4
3.5

4.6

Correct Answer :-

10) Progesterone is secreted by-/ ﬁﬁ'\‘?j’"l ATfad @T‘IT %—
1. Pituitary gland/ ﬁ’{q PRI

2. Corpus luteum/ HUq ?If%'m:[ 9

3. Testis/ ASHIT

4. Thymus/ YISHA I

Correct Answer :-

« Corpus luteum/ HUq ?I%Wq |

11) Which of the following schemes emphasizes more on children in need of
care and protection, juveniles in conflict or contact with the law and other



vulnerable children? / 5 & & F9& TIST & ATATAT H&T TR I Hfed aRedfaai & @ a
TG UF LA Fit AMALIHar a1 a1 Aty Farted ua dheuea 99 57

1. Rashtriya Bal Swasthya Karyakram / TT81T 1T TaTe2T HTAHH

2. Integrated Child Development Services / @Rfraa arer AT TrsT
3. Integrated Child Protection Scheme / T8THT 1T HLETT FTSTAT

4. None of these / =% & #Ts 7!

Correct Answer :-

. Integrated Child Protection Scheme / T¥feha sTer HT&AT AT

12) In which year was the Janani Shishu Suraksha Karyakram launched?/

ST FRTS] AT FTAFHT FIFE 9 & EN T 1471?
1. 2011
2.2012
3.2013

4, 2014

Correct Answer :-
« 2011

13) 11
What would be the compound interest (in Rs.) of Rs.24,000 for 2years
1

at 10% per annum compounded half yearly?/QFlTa 24,000 &1 153&%@[& 10%
Ufay &aTs Dt g8 IR DHTE! TUMET A W Thgies Sarel(FUd §) 1 g2

1. 3,783
2. 3,680
3.4,150

4. 3,240

Correct Answer :-

- 3,783

14) The human body contains the maximum amount of: / HT-Id IR § 91 4T & SAR
Hatfie =1 gt &:

1. Proteins/ OreE

2. Water/ Sl



3. Fats/ 94T

4. Plasma/ WITGHT

Correct Answer :-

e Water/ Sl

15) With respect to the Child Marriage Act, 2006, find the incorrect sentence
out of the following options. / o faaTg srfafaaw, 2006 F Trefaa s et § & Toq
faerew 7 339 T

1. This law is also applicable to citizens of India beyond India / 7 AfaRa7 9=a % 18T
AT AR 9T AT A0 &

2. This law is applicable to whole of India / g srferfaaa @ wea § AW &
3. Both of the above / 3T Ml

4. None of these / =7H & FIs Tal

Correct Answer :-

« This law is applicable to whole of India / g afearfF=® @ w*a § A &
16) What is the work of Home key? /8H &1 &1 &1 ST gidT 82

1. The letter on the right gets erased/TTs 3R ATl &R fie S g

2. Cursors reach the end of the Iine/ﬁ??ﬂ%ﬂ & 3fd H Ugd Sldl %

3. A new line is formed/T& Tt Qg9 §9 Tdt &

4, Cursors reach the starting of the line /IR AR & = o Ugd SIdl g

Correct Answer :-
« Cursors reach the starting of the line JHIR AR & Wff Ugd SIdl g

17) DIRECTIONS: Find out missing humber from the figures given below./

Frdmr: A1 & eft ampferall & g e 9@ AT
11 ]:3 27 24 27 /;

I I

1. 35

2. 36

3.37

4. 38



Correct Answer :-

18) In how many categories do the Hindu Succession Act, 1956 classify
blood-relation between ancestors and children? / R sTfe=r afaf=aw, 1956
TSl ST Tl 6 ST TH-Hae Bl Fhaa AT HARIT FaT 572

1.2
2.3
3.4

4.5

Correct Answer :-

19) According to the Commission of Sati (Prevention) Act, 1987, which of the
following women can be called ‘Sati’?/ ot afafa (Twamw) sifafa=aw, 1987 F siavta
5 & & S wigATSH *1 TA £ Foft F T@T ST FHar 82

1. A woman being burnt alive along with the body of her deceased relative voluntarily

| T AT ST ST qAF AT F T F 1T Ik TS LA Tl (@47 ST @

2. A woman being burnt alive along with the body of her deceased relative forcibly /
U AigdT [Sah! 79 Jda Tl & ag & a1 STaaed! STl QAT AT @1 g

3. A widow being burnt alive along with the body of her deceased husband forcibly /T=
qfedT ST SO g ufd & 3 % A1 TIawd ST (23T AT @ 8

4. All of the above / 3T T+t

Correct Answer :-

« All of the above / 373k &+t

20) DIRECTIONS: Complete the series by choosing right figure from the given
choices./ fqr: fau e faweul & ¥ O fawea &1 a9 F Joft B R HL

D|BD) -

(a) (b) (c) (d)

®




|
v

B

4.

Correct Answer :-

21) Cervix is situated between-/¥1aT (Cervix) fRUd gidr 8-
1. Oviduct and uterus/ 3USATGT TUT THIRR & He

2. Vagina and uterus/ T qUT THIRE & 7e

3. Vagina and clitoris/AT qUT HIFRRT & He

4. Clitoris and labia/HTFRI T el & AL

Correct Answer :-

» Vagina and uterus/ It 9UT THIRE & Aem

22) Pointing to a girl, Mohan said, “She is the daughter of my grandfather’s
only daughter-in-law”. How is Mohan related to that girl?/@ﬁgﬁﬁ 3R
SRIRT Hd G TS A HT ‘98 AN aTerelt 3t THHTE TaY 3t T g1’ Hied 39 aso! A fryg
TPR T fid 82

1. Brother/HTs

2. Uncle/dTdl

3. Cousin/w

4. None of these/3TH ¥ &5 ol
Correct Answer :-

. Brother/?-ﬂ'sC

23) What is the minimum amount that can be submitted in a single year in a
Sukanya Samriddhi account? / T% I & g1 iy @ § Reraw et afer & s
TRt ST ghar 82



1. Rs.500 / 500 &7

2. Rs.1000 / 1000 &9
3. Rs.1500/ 1500 =7
4. Rs.2000 / 2000 =73

Correct Answer :-

+ Rs.1000/ 1000 =7

24) CANCELLED

According to the National Food Security Act, 2013, which of the following
options are not true? / TE GTer YREAT ATATHIH, 2013 Fa=efi A3 Fawedt § § Fi4r 98!

ol 87
1. It extends to whole of India / 98 T 9 R ¥ @ &
2. There are 7 members in the State Food Commission / 71T @Ter Af9fd # 5 9a€ gId &

3. Both of the above / 39k =T
4. None of these / za% & FIE A&l

Correct Answer :-

« None of these / z7% & &g Tl

25) The speeds of bus, bike and train are in the ratio of 1: 3: 5 respectively.
If all of them covers equal distance then the ratio of time taken by bus, bike
and train are respectively:/ S, 9T3® 3R ¢ 31 Tfd ST 3JUTd HHRE: 1: 3: 531 TG
Tt T g8 T4 Fed B, 99, a5 SR ¢ g1 T ¢ WY B1 U HE: 7

1.6:7:8
2.15:5:3
3.12:7:9
4.1:3:5

Correct Answer :-

26) Which of the following is the example of B2C e-commerce? /5% & @ &1 a1 ot 2 Wt §-@1ad
BT IEEIT 32

1. Amazon.com and Lastminute.com / 3. BTH 3R AR, BT

2. E-bay.com and Flipkart.com/s -9.%1H 3R fGausTe Sic Hid



3. Lastminute.com and E-bay.com/ AREfe. pH 3R 's: S.BIH
4. All of the above / Iudad It

Correct Answer :-

« Amazon.com and Lastminute.com / A, BH 3R ARCIHTC. BIH

27) The cell reference for a range of cells that starts in cell C1 and goes over
to column H and down to row 10 is-/3d C1 q HTaH H F1 3R T2 F) ufed 10 d&
I Avit F o w1 T ey fan srar 82

1.C1:10H
2.C1:H10
3.C1:H-10

4, C1:H:10

Correct Answer :-
« C1:H10

28) Poliomyelitis known as Polio is caused by an enterovirus which causes paralysis of muscles.

This virus has a particular affinity to ? /Uifera & U H ST niferenwrsarsfey e iRy
St ARTURRY & Y&TITd BT SR 971 § b SR gial & | I8 TR ¥ fore ue faxly wey 82

1. Muscle Cells/ATHORR™Y &1 aﬁw
2. Nerve Cells of Spinal CordR1g &l Eﬁof D1 dRPBT DIRBT3M
3. Nerve Cells of Brain/ATsh &1 AT HIRIBHTSH

4. None of the above E:If[ I El'ﬂg:lﬁf

Correct Answer :-

e Nerve Cells of Spinal Cord/'\ﬂ_qf P 6@ P dEHT BIRBTS

29) The Pradhan Mantri Adarsh Gram Yojana comes under the - / &= ®#=1 sast
T JrorT 9 & & Forgen sfaeta smar 82

1. Ministry of Panchayati Raj / 9=t T05 H3Tx
2. Ministry of Rural Development / ITHToT faehme ®31eg
3. Ministry of Social Justice and Empowerment / HTHTISTS =73 i< SATEERTIAT AT

4. Ministry of Finance / fa=t w=merr

Correct Answer :-

« Ministry of Social Justice and Empowerment / STHTIST® =TT 3fi¥ ATEaRTiar #smes



30) Which of the following option is best represented by the following

diagram?/ fFafafaa & @ 19 a1 faeeu A snepfa gRT exifar st gwar g 2

1. Chair, Table, Furniture/&dl, A, BilaR

2. Doctor, Social person, honest person/sTdc{, grHToIe A

fad, SHMCR aafad
3. Family, Parents, Children/ IRAR, 3fyHTa®, g

4. Gold, Silver, Ornaments/ 35ﬁ‘=|T, EﬁJ_Cﬂ, STHYUT

Correct Answer :-

« Doctor, Social person, honest person/3ldeR, TTHTN® fad, SHFGR Hfad

31) If ‘hand’ is called ‘eye’, ‘eye’ is called ‘ear’, ‘ear’ is called ‘nose’, ‘nose’ is
called ‘mouth’, and ’mquth’ is called ‘hair’, then through which we can
breathe?/4fe ‘81Y’ &) ‘3RG’ BT STdT &, ‘ARG’ P ‘B’ Bl STdT §, ‘B’ B ‘AIH’ Hgl
ST ], A6’ B ‘U’ $el 9Tal 7, 3R U’ P qIa’ BT oATdT1 8, °f g6 9id frad ad 82
1. Mouth/ﬁ%’

2. Eye/GﬁIq’

3. Ear/®TH

4. Nose/ T

Correct Answer :-
« Mouth/Hg

32) In which year did the Dowry Prohibition (Maintenance of Lists of
Presents to the Bride and Bridegroom) Act come into force? / g9l Y (gegd
3R gTRT B! R BT Ugd A Pt v@vEra) gy fry af # ey foran mar?

1. 1984
2. 1985
3. 1986
4, 1987

Correct Answer :-

« 1985



33) DIRECTIONS: Find the Mirror image of the given image./ 321 <t it
TP BT gUoT yfafara Jra S|

Question Figure: /q9al Jmgpfan:
Answer Figures: / 3¢e1z ATHTIAT ¢
: _ ——

=[]
(1 @ @) @

1.1

2.2
3.3

4.4

Correct Answer :-

34) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ farder: fruafafed vy o uyeras e ) & R
R THIT DI AT | ST ?

(340 x 9.98) + 6.4001+1245.15 =?
1. 1896
2.1776
3.1676

4. 2076

Correct Answer :-

« 1776

35) Which of the following days was announced as the Deen Dayal

Upadhyaya Grameen Kaushalya Yojana Antyodaya Diwas by the Ministry of
Rural Development? / It e #=mea & B & @ w99 fi=is 1 a9 <37 SurearT
THIOT HTAAT ST ST (Gad & € | FI10q AT [>T 79T 9772

1. 20" September 2013 / 20-aT1 fraw< 2013
2. 20t September 2014 / 20-aT fRava 2014

3. 25th September 2013 / 25-aT fawa< 2013



4. 25t September 2014 / 25-aT fraw< 2014
Correct Answer :-

. 25t September 2014 / 25-a1 fraw< 2014

36) DIRECTIONS: Choose the missing terms out of the given alternatives./

ford=r: fag e famedt # & g udl & 3rd 1 |
m__ommn__m__nommn_m.

1. onmo

2. nomo

3. monm

4. momn

Correct Answer :-

37) DIRECTIONS: In question below are given two statements followed by
two conclusion numbered I and II. You have to take the two given
statements to be true even if they seem to be at variance with the
commonly known facts and then decide which of the given conclusions
logically follows from the two given statements, disregarding commonly

known facts. /132 4 f3U 0 u=q & @ ®Y= 3R 39 91¢ & e 1 3R 11 few e 21
3Mye! faT MY 3 HUHT B T HIEET & YA 8 3 agTd aa A fy=1 udia gid gf 1 9
foreput @Y ufew fpe T Fifere f feu e faeeyt # ¥ i a1 e fou e sy a1
THIT $U A RN FIAT 7, TTe FA9Td 9 $o i g |

Statements: /HY:

No tables are watches/®I3 A+, sl 8] 8

Some watches are Iamps/@‘tﬂl@, W?

Conclusions:/ﬁwﬁf:

I. Some lamps are not tables /%3 $u®, A% 781 &

I1. Some lamps are tables/$® &u®, A9 3

1. If only conclusion I follows /3f¢ &ad FshY I &@TUTW%

2. If only conclusion II foIIows/ﬂﬁWﬁEbe II WW%

3. If neither conclusion I nor II follows /?T%:[?ﬁﬁﬁb_ﬁf I8!l &WW%
4. If both conclusion I and II follow /afe fswd 1 3R 11 ST &@Waﬂﬁ%

Correct Answer :-



. If only conclusion I follows /af¢ Had fAshHY 1 SIIR0 H3l &

38) When was the Pradhan Mantri Swasthya Surakshya Yojana first
launched? / TeTH H3T TATEST AT ST TATAT Fe A AT TIAT?

1. 2005
2. 2006
3. 2007

4. 2008

Correct Answer :-

- 2006

39) According to the Dowry Prohibition Act, 1961, which of the following
amounts to being a dowry? / g« Aue sfaf==w, 1961 & sqa = & & F4r e
TEH HT AT H ArOIT?

1. Presents and gifts / 398
2. Affectionate and voluntary dowry / 39Ul U4 =g 32w

3. Food and arrangements / @THT U sFa€T

4. None of these / =% & FE 7l
Correct Answer :-

« None of these / 5% & #T$ &

40) How many tribal groups have been identified and categorized as
Primitive Tribal Groups? / fFa« sfears awgi w1 Rifafea sniear aqg F €4 & R=g ta
i Rt T 872

1.70
2.72
3.75

4.77

Correct Answer :-

« 75

41) Shantam walked 6 m towards East, then took a right turn and walked a
distance of 9 m. He then took a right turn and walked a distance of 6 m. How

far is he from the starting point?/ dH 6 Iﬁaq;a‘a?r &ﬁiwﬁ?{aﬁeﬁzw 9



Hiex o1 gt a9 1| fpR a8 Tt SR gaT 3R 6 Hiex &t gt a9 Ft | 3@ a8 v+ URA® faig
q frai g 82

1.9 meters/ 9 Hiex
2. 24 meters/24 Hex

3. 18 meters/18 Hiex
4. None of these/'s?lﬁ@[aﬂ'stﬂﬁ

Correct Answer :-

e 9 meters/ 9 Hex

42) A, B and C contracted to do a work for Rs. 4200. A can do the work in 6
days; B cando it in 10 days and C can do it in 12 days. If they work together
to complete the work, then what will be the share of C (in Rs.)?/ A, B 3R C
T fHdl TH B RT A & FU 3. 4200 § SH71 a1 411 A SrpaT ST FH Bl 6 AT H, B
3rhar 39 10 fo= & 9T € rFpan 3/ 2 e A R gwar g1 afe AN v Ty st o, at €
&1 fe==ar (&, ) | gem?

1. 2000
2.1200
3.1000
4. 1500

Correct Answer :-

- 1000

43) Which of the following requires internet connectivity for access? /

frafafad A 9 fead fiu gevae FAfaefad) Ft smazasdar 82

1. Facebook/ W
2. Twitter / EET
3. Watsapp / qreguy

4. All of the above / Iudad Wit

Correct Answer :-

« All of the above / 3udad Wit

44) In a class of 60 students, 40% can speak only Hindi, 25% can speak only
English and rest of the students can speak both the languages. How many

students can speak English?/ 60 BTl 1 T &I A, 40% Had (gl ad Ibd &, 25%



?mmm%ﬁmmﬁmﬁmmauwmﬁmmmm
?

1. 32
2.28
3.36

4. 15

Correct Answer :-

45) The digestion of protein takes place in-/ U &1 urae gidm %—
1. TleunyRISTd
2. Rectum/HIRY

3. Duodenumﬂ]%’Uﬂ

4, Stomach/3{THIRIYT

Correct Answer :-

¢ Stomach/3HTHIRIYI

46) Amniocentesis is legally banned because:/TA S erR ufveror ) faftr & ufaefia fean
T § FIH?

1. It affects the health of the mother/dg HIdI & WY & ol ® MPR® %
2. It harms the foetus/dg YUI ¥ BINHRS &

3. It causes the spread of AIDS/Ag UgH * tr>C1:| DT PR %

4. It is used for the purpose of selection of the sex of the foetus/dg S | Qﬁ Pl & el sga | HeIdl
GRGIN

Correct Answer :-

« Itis used for the purpose of selection of the sex of the foetus/dg STH | tlﬁ Hul o T =g o qgrad
HAT 8

47) A primary key in any table has the properties:/W Wt ¢aa o Wmﬁﬁﬁ
ot faiwar 2:

1. No Duplicates/®'s gw@idbe Tal

2. Not Null/Null &t
3. Both of the above/3Judad gl



4. None of the above/s_rl'fr I aﬂs‘ ﬂ?’[

Correct Answer :-

« Both of the above/3udad gl

48) DIRECTIONS: Study the following pie chart carefully and answer the
question given below. /3% fAufefad urd ard &1 o= T srmua R AR feu e Uy &

IR R

Distribution of students studying in a University /T& fayfaemeay o sreaga # 3@
BTl &7 fauTe=

Arts/HT, 10%

Medicine, TafF=aT, 8%

commerce/aoTFg,
33%
Managemant,/ T,
16%
science/frm=, 18%.
Engineering/Fataratar,
15%

Total number of students /%d Bl &I BT = 8000

What is the total number of students studying in Engineering and Medicine

together?/ I ik fafrsr faur & et arad oo faenfiaY &t Term frait 82
1. 1280

2. 5000

3.1840

4. 480

Correct Answer :-
« 1840

49) If the average of a, b, ¢, d, e and f is 18, then what will be the average of
a/5,b/5,c/5,d/5,e/5 and f/52/ df¢a, b, ¢, d, e 3R f HT NTT 188, A a/5, b/5,
c/5, d/5, e/5 3R f/5 BT 3T T g2

1.3



2.4
3.5

4. None of these/378 d ®Is gl
Correct Answer :-

« None of these/39H T BIs 8!

50) DIRECTIONS: What approximate value will come in place of the question
mark (?) in the following question?/ = Frafafed vy o yyares e ) & =
TR T B AT /I ST 2

+/1000000.000001 _ ?

1. 1000
2. 100

3. 10000
4. 909

Correct Answer :-
« 1000

51) Which of the following is included in the term ‘workplace’ under the

Sexual Harassment of Women at Workplace (Prevention, Prohibition and
Redressal) Act, 2013?/ RTEHATSH T FIAETA I ARk Sedte (Faror, yfawer six wfaa)
srferaw, 2013 ¥ siaviq g ‘FEea § 9 9 § 47 onfHer g2

1. Dwelling-house/ strama-g

2. Sports-complex / @@ HFd

3. Both of these / 392k TMT

4. None of these / ST & & #IE gt

Correct Answer :-

« Both of these / IUZI=F =T

52) First synthetically prepared organic compound was / Tduyw Aead Srdfae I %

1. Glucose/ w

2. Methane/ Iﬂa:f
3. Benzene/ aﬁﬂq

4. Urea/ gk



Correct Answer :-

« Urea/ AT

53) Pranay sells an article to Rohan at a profit of 10% and Rohan sells it to
Utkarsh at a profit of 20%. If Utkarsh pays Rs.2376 for it, what was the cost
price (in Rs.) for Pranay?/ WWWE%W@ 10% 'EFI'I'W@HW@?%HT %Rﬁ?:l,
I@Y A 20% FATHT AP 98 Ieg 99 T 2| Tl ISP Y P $.2376 YITATH HAT U, f YT
3T 0 g4 (3. T) |1 U1?

1. 1980
2.1250
3. 1800

4.1750

Correct Answer :-

« 1800

54) Data link layer is responsible for / STcT foie @R IR &
1. Error and flow control/ 3fe 3R varg fAd=m
2. Frame synchronisation / WW@@W

3. Both of the above/ IR gHl
4, To convert into bits/ m HHac A P ﬁlﬁ

Correct Answer :-

« Both of the above/ IWRIgd Gl

55) In which of the following areas does the Rajiv Gandhi Panchayat
Sashaktikaran Abhiyan seek to develop the Panchayati structure? / Tfia wieft
YT FATHHLI ATHIAT [ § & HI9 & § GA1IT AT T (A HLA FT AT T@T 82

1. Tribal areas / sfaaTHT &=t
2. Northeast / ITTTET &=
3. Scheduled Areas / ST =T &=

4. The whole country / T¥ 39T AT &

Correct Answer :-

« The whole country / 9 3T 9T |



Topic:- Grad_Managerial Skill

1) Sociology is:/ HTS-RT¥A e

1. Arts of society/ THIS &I Hall

2. Science of society/ THTS &1 faq=

3. Commerce of society/ JHIS &1 d1iorsy
4. None of the above/3WIad § ¥ 15 g!

Correct Answer :-

« Science of society/ JHIS &I CRIE

2) Community development is possible when the approach is:/ 9Hqdd ICCAR]

99 94T § oT ugf B
1. Participatory/ SgHTRIdTgul
2. Top-down/ UG (€T9-813H)

3. Autocratic/ MRS
4. Bureaucratic/ 3@ RIdag

Correct Answer :-

« Participatory/ Fl_s’ﬂ-rﬁ?lﬂTq;Uf

3) Other name of Community involvement is:/3dYqd JaudT &1 QURT AH %:
1. Community Participation/ FITEETW UTtaR!

2. Community development/ ¥qcld famrg

3. Community action/ ¥Had ]

4. None of the above/3IWIad ¥ ¥ &5 g

Correct Answer :-

o Community Participation/ FITEETW YRfierRt

4) Leaders work for the needs and interest of :/ ﬁ?n/ﬁaaﬁrf L]
ragharsii R TRl & foe rd w7 71

1. Other leaders/ 3= d13f/Aq@dmdiai
2. Group/ 9Hg



3. Government/ G¥hRR
4. Extension workers/fd%R St

Correct Answer :-

« Group/ 9%g

5) Traits of local leaders are:/ RIHIT Adr3i/Agaapdisil  faRwary &:
1. Physical fitness/ TRIR® e

2. Mental ability/ A% Irgdm

3. Social attitude/ TR AT

4. All of the above/ ITdad T+t

Correct Answer :-

« All of the above/ ECRiTﬁ gt

6) Which Five Year Plan is also known as “Gadgil Yojna"/ g vyaadfy geHr &t
“rsira g ff FEd 82

1. First Five Year Plan/ Ugdll Ugqsid s

2. Third Five Year Plan/ af<} t=asfg aT

3. Fifth Five Year Plan/ Uiad! Uaauiid dre

4. Seventh Five Year Plan/3idd! U=asid i

Correct Answer :-

« Third Five Year Plan/ d{l Udasfg dierT

7) Pictorial is a form of:/ 9ftm (Reiftae) ___ #s1¥us:
1. Interview/ HI&Th R

2. Questionnaire/ PENIG ]

3. Schedule/ g/ TH-GRU

4. Observation/ 3fdclie

Correct Answer :-

« Questionnaire/ UYTaal

8) First step of programme planning is:/ Prd®pd e &1 gl dRUT %:



1. Evaluation/ i
2. Report writing/l?d ¢ A

3. Identifying problems/wéﬁ D Uga

4. Preparing plan of work/®T ToHT daR BT

Correct Answer :-

« Identifying problems/ﬂﬂwaﬁ CAR RIS

9) Types of leadership training are:/ ﬁa?q'uﬁr&rur F UPR %
1. In-service training/ Har-# (ET-T—‘v'IﬁH) IR

2. Pre-service training/ @HT-Uj (Eﬁ-ﬂﬁﬂ) gfRreror

3. Both of the above/ IWRlad G

4. None of these/ E:FEI q ﬁ'sf T8l

Correct Answer :-

« Both of the above/ IWIFd ?ﬁ:ﬁ

10) A group working especially for the welfare and development of women is
called:/ faRiy =0 & wfgansit & oo gd faewra & fag sria 99z ot Pal
SITdT %:

1. Balak mandal/ STd% Hed

2. Gram mandal/ IH Hsd

3. Mahila mandal/ AfgaT 8

4. None of the above/3IWIad ¥ ¥ s g1

Correct Answer :-
« Mahila mandal/ Afgal ASd

11) Other word for welfare and development is:/ IV TG [AHTT HT IR AH g
1. Energizing /SN DHRU
2. Empowerment/ IR Ul

3. Enriching/W@WUT
4. None of the above/‘o’qﬁaﬁ el aﬂé T8l

Correct Answer :-



« Empowerment/J=Iadd ol

12) Barrier of communication is:/ 4R I qIYT %:
1. Audience/ TPH

2. Communicator/ 9IR®

3. Noise/ IR

4. All of the above/3udad I+

Correct Answer :-

« All of the above/3Iudad I+

13) Fourth Five Year plan was the first plan launched by:/ @4} t=adfa aeHr
ERT ARTY ot TR ygent grer At

1. Mahatma Gandhi/ HeTHT et

2. Jawaharlal Nehru/ SIdT8IdTd Ag&
3. Indira Gandhi/ $fexT mTeh
4. Sonia Gandhi/Ifar e

Correct Answer :-

« Indira Gandhi/ SfexT Tt

14) Main focus of Second Five Year Plan was:/ a3l Gaqulq TS+ &1 T&T BIvd
Yr:

1. Self reliance/ SraAfyRar

2. Technology development/ WeNfTe! faera

3. Industrial development/ N faeTy

4. Administrative development/ RIS [de

Correct Answer :-

« Industrial development/ e e

15) What are Leaders?/ JdT/Aqaddl &1 gid 82
1. Head of the group/ ¥¥g &I R

2. Tail of the group/ I4g &1 U8



3. Body of the group/ dHg &I IRR
4. None of the group/ IYg &1 P& e

Correct Answer :-

« Head of the group/ ¥Hg &1 RR

16) Radio is:/ YfEal grar gl
1. Folk media/ @i HTE0H

2. Print media/ fiic A1eqH

3. Electronic media/ aadgTﬁqv HIEH

4. All of the above/ Iudad it

Correct Answer :-

« Electronic media/ A= H1eOH

17) What figure best describe the communication process?/ PI-3d awﬁ
TR ufthar &1 Haiwd quiv Hedt 82

1. Square/ i
2. Circle/ 9

3. Triangle/ AYS
4. Line/ 3@

Correct Answer :-

« Circle/ 9d

18) What type of process is communication?/ ¥9R f&d UpR &I ufhar g2
1. One way/ Uh-dxml

2. Two way/ &l-aRWI

3. Three way/ diF-dRWI
4. None of the above/ SWRIFd & I ﬁé qﬁf

Correct Answer :-

« Two way/ &l-adRwl



Top priority in Eighth Five Year Plan was given to;/ 3madl veadfa aieT o
@1 gate wrafirear & i o5

1. Employment/ RUSRIR

2. Education/ fRr&f

3. Public Health/ STdSd WA
4. All of the above/3udad I+t

Correct Answer :-

« All of the above/3Iudad I+

20) Gram sevika is an example of:/ ITH dAfd®T P IS0 &
1. Professional leaders/ URIaR ﬁaaamf

2. Local leaders/ I =dl/Aqddbdl

3. Government leaders/ TROHRI ﬁ?ﬂ/ﬁ?ﬁﬁ?ﬁ

4. None of the above/3IWIad H ¥ 15 g!

Correct Answer :-

« Local leaders/ R ﬁ?ﬂ/ﬁﬂc‘dﬁﬁ

21) Reduction of Gender inequality was the main focus of:/ e SRATHAAT BT
eTT DT BT BIH UT:

1. Eighth Five Year Plan/ 3T3d! Gaayf deHT

2. Ninth Five Year Plan/ F\df U=Qufg aeT

3. Tenth Five Year Plan/ codl dgausfg i1

4. Eleventh Five Year Plan/ TTgd! Ugaslg areHT

Correct Answer :-

« Eleventh Five Year Plan/ TTg3d] Ugaug a1

22) Which is the current Five Year Plan of India?/ HIRd ® daHT9 Yaufg qis-n
H-41 82

1. Ninth Five Year Plan/ Fidl Uaas{g gieT
2. Tenth Five Year Plan/ cdd! Ugauig a1
3. Twelfth Five Year Plan/ R84l UIasg AT



4. Thirteenth Five Year Plan/ dRgdl Ugdsg e

Correct Answer :-

. Twelfth Five Year Plan/ SRgd! UIasg AT

23) Modernization of Industries was a major highlight of which Five Year

Plan?/ SN &1 sMyf~iaia~ur fora daadfa aie &1 ta ugd fawg 912
1. Second Five Year Plan/ Qa3 Uaaulg Ao

2. Fourth Five Year Plan/ @4t U=aufg deT

3. Sixth Five Year Plan/ ©3! Uaquifg aieH

4. Eighth Five Year Plan/ 3T3d! Uaau{d o

Correct Answer :-

« Eighth Five Year Plan/ 3T&d! Gaasig aieiHT

24) Duration of Tenth Five Year Plan was:/ 3dl Ugaufg Ire=T @t 3rafd i:
1. 1992-1997
2.1997-2002
3.2002-2007

4, 2007-2012

Correct Answer :-

« 2002-2007

25) What is the main role of local leaders?/ R AdT3i /Aqa®dra @t &I
YfreT o gielt 82

1. Influence the group/ T4g &I YHTIAd HAT
2. Train the group/ dHg &1 TR AT

3. Lead the group/ ¥Hg &1 Agd B
4. All of the above/ Iudad wft

Correct Answer :-

« All of the above/ Iudad i

26) Planning Commission of India was formed in the year:/ HIRd H gioET
STIRT B RITT T H g3



1. 1950
2. 1960
3.1970
4. 1980

Correct Answer :-

« 1950

27) Professional leaders are selected through:/ URIaR Adrsii/Aqasarsii &1 Ta=
& HTegH A forar wiran @

1. Interview/ HI&Th R

2. Votes/ Hdal+

3. Observation/ 3{dcie

4. None of the above/3WIad & ¥ 15 g!

Correct Answer :-

e Interview/ II&Tch R

28) Formal Institution of society is:/ THTS P NUATRS TR &:
1. Gram panchayat/ ¥ U=Id

2. Rural school/ Tt fasme

3. Primary Health Centre/ TS WY &g

4. All of the above/B'q?jHH gt

Correct Answer :-

« All of the above/3udad I+

29) A person who adopts a new idea before everyone is:/ IT&! I I uga foreht
T foaR ) =T+ aren afad FHeard &

1. Innovators/ aydd®

2. Late majority/ UY SgHAIRI

3. Laggards/ Heue/Hadfg

4. Early majority/3RBd qgadi

Correct Answer :-



« Innovators/ Tavdde

30) One Child policy was launched in which Five Year Plan: /{3 LRI
# e ar i Ry ot W=t 0

1. Fifth Five Year Plan/ Uigdt t=ala giemm

2. Sixth Five Year Plan/ ®3} Ugaufg gror

3. Third Five Year Plan/ TRt daasfa aierT

4. Seventh Five Year Plan/Iiad! dgasfg Iy

Correct Answer :-

« Sixth Five Year Plan/ ©d! UIdug gieHT

31) Which is the best model of communication?/ IR &I diWH Alsd HIH-TT

8?

1. Leagans model/di=g Aisd

2. Aristotle modeI/GRﬁﬂT?ﬂ

3. Shamon-weaver model/RH-daR Hiesd

4. Berlo model/ gdt Aled

Correct Answer :-

« Leagans model/?ﬂ'ﬁTH Aled

32) Example of Non-verbal communication is:/ AP IR DT ISEI &
1. Signs/ dhd
2. Gestures/ gld-HId

3. Actions/ fohamq
4. All of the above/Iudad Tt

Correct Answer :-

« All of the above/3udad I+

33) Primary data are:/ WI4fi® 31 &:
1. Second hand data/ %< & 221

2. Tertiary data/ a?ﬂw Sl



3. Original data/ HET@ET
4. Organized data/adaiRyd Sl

Correct Answer :-

« Original data/ 9d s¢T

Topic:- Grad_RC_Managerial Skill

1) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: FafifEd s & eaFyd® UeHs 39 4 &d T sgfawed! u=ei & 98t
fawey &1 799 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3Ref Tsg FRIAHRA &) dfer e “wryf I fomr war g oraer o g remm
1 T’ | gg fo=my, gy, A, HraArsi a1 I9aY BT HHINUT Td I =dfhar g1 HE,
Waddl & qdgR # geard @ | Tgayul Yf¥reT fFurar 3198 vsgl, wdiel, ddal, Siart
T H1al & Y A g hdTl g1 T8 dFN & ATeaH A 1 Harq & Ya- ¢d 8| Yad: JaR
P g U}, "W, Tdhat, AN (W), s (Saf$m), wrasal, w1t wd ufagfy +
SATIRYHT gid! 1 Tg YR Ud Uiyl e o1 U Jad ufshar a1 9 3139 TR JaR
TP, faarR, 333, HraAme 3R T<-ATa=< &1 ATH-UTH & 37 dR1 A "I B Bl
TP SN[ W 81 TOR 99 TYTH ST 8 919 SR Uh-gay & gIRT T3 o o wre 8w
e forar e ofe uraeal Se & St I o # S Iwerar @ o srftuma #
TaRedt 3 ¥ VST AT 91 98 AR 81 81 YT Y9R & fore gg smawae &) f& urasal
SR ¥ HgHd 8 g a1 3Q R &Y 81 gfe "dxr gwe forar war g @) g9 vt 21
g AHUT Y B Twar 21 3H UPR, 3D JuR # W B =S} JHH 991 WiE 81

Communication is a tool of:/ HIR DT HTYUT (geT) g
1. Resource/ 149

2. Channel/ HI¥9H



3. Action/ Eh‘rﬁ?nl'lﬁ

4. Management/Ud4

Correct Answer :-

« Management/Ud4d

2) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafafEd e & aFyd® TeH: 39 4 3 T sglawed! u=ai & 98t
fawea &1 a7 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

AR & 3 Weg FRIAGIA $1 Afew g gy F forar wan @ Rraer ok @ emm
1 g’ | g8 foamry, awu, wa), HraAre ar vau) &1 gWiver ug 3@ safhar g1 IER,
WIddl & oIdeR § geard a § Hgayul YT fHuTar 3198 Sreal, Udidl, Jdbdl, &Rl
T HT4f $ ©U A 8 Ghdl 81 g AN & WT1ead | $1d HIaM BT Y=~ g 8| Jad: GaR
P g U}, "W, Gdhat, A (W), s (SafEm), wrasal, w1t v ufagfy
STIRTEHAT el 81 TE WS TF ufagfYy VoA &t To Tad ufshar a1 9 139 TPR J°R
TP, faarR, 333, HraAne 3R T<-AT9= &1 ATH-UTH & 37 AN A "I B Bl
T WA WO 8| Wk 99 THTE ShaT @ oid W THh-gal & kT |reh 1 foman oe oik
Twe forar sie | afe urcaedal SIS B St I ord 7 F8Y wwerar @ o erfyumg ®
TaRedt A ¥ VST AT 91 I8 HaR 81 81 YT J9R & fore gg smawgs 8 f& uraswdal
SR ¥ HgHd 8 8 a1 38 R &Y 81 gfe ddxr gwer forar war g @) g9 vt 21
g AIHRur ot B THaT 81 T UPIR, 3 AR # W B IS qH I441 IS B

Communication can be in the form of: 4R > Y H g Jghdl g
1. Idea/ JaR
2. Facts/ dyg

3. Opinions/ Hd



4. All of the above/3Iudad Tt

Correct Answer :-

« All of the above/3Iudad it

3) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e & wryde yee: 9@ AR fd M sgfaw«dt vzl o W&t
fasea &1 9 I

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3T Weg FRIIHIA I Afe Weg “wrgfaa’” A foran man 8 ot ord 3 emm
1 gqren’ | gg fo=my, 9wy, wdY, HraArsi a1 I9uY BT FHWINUT T4 IS =afshar g1 HE,
Waddl & qdgR § geard @ | Tgayul Yf¥reT fFurar 3198 visgl, wdiel, ddal, Siart
T Al & FU A g HdT g1 T8 AN & ATeaH A 1 Harq & Yo+ gd 8| Jad: TR
Fd U UHl, ", "ohdl, AN (I99), fawprea (SrdifEm), wrasal, w1t wd ufayf® @
SATARIHAT Bt 31 Tg e TF ufagfdy o &t Uo Fad ufehar a1 9 3159 UhR aR
STFERL, faErR, 33, yrars 3R THe-ATug < &I RI-UrT & 30 AN | T3 B BT
TP SN]d Y41 8| TaR a9 YUTA! iaT § I ISR Th-gax & gRT IqT3 R form o 8fik
Tug forar s afe uraeat Ser @ St It ord A EY wwsrar @ o e #
TARPdl 1 IV UST AT ) I8 TOR 781 81 UHTd WuR & fore gg sraxas 78 {6 wraasat
SR ¥ TgHd 8 &1 a1 3q WHR # &1 afe T gusr forar mam g 9 sa-1 vt 81
g redtevur WY 8 gdal 21 39 UPR, I WOR H W $I ISt U 991 ;A B

What is good communication?/ 33T 94X & 8?
1. Good Message/ 33T Wo¥

2. Creating understanding/ JH &[T

3. Providing treatement/ SIdgR/3UdR Ul hI

4. None of the above/IWRIad & ¥ BT Tal



Correct Answer :-

« Creating understanding/ JHd dATHI

4) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEd weiz &1 wFyde ess 9@ i @4 T sgfawed u=-i & wdt
fawey &1 799 I

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST YRT B Fo TAHET F ATHIT 98% P! HaR Bl 81 TP 204 WIH ¢ ford |
150%%%%@?54%%%%%%@% 100% WMfe®
Ugd ardl, SIF YOR $T TS depTd ATHH 8, W URd # IS 3 R, $-ued qURR
gafed iR firadt Wil & wa & sramar srom gRT JrA ura =8t fear 81 9t v
YRt Hraref SR diferal ¥ 77 auf & R & 91a9[g, I8 W 9% WA, $iY, IR
a1 fea-ufafeq 3t g ar=uarsi o1 RFY €9 d YRS 99ER Jid aatas odf |
T8 91 TT 1 IS TP agd AW HIHH 21 U8 WIPd 8, HTHTa @ iR SHiws ot 21
gTaife 39 favga 39 37 & fore w8t o 9dd €1 3/ Sodl /qursh, yeRl & Jefta
ayons, IRl & Iuasar, Sl T fe & I # AT a1 Sy, iw @
Yafed Jarafal, A F yeiy, HER, A @ Jafta guerR aHiansit, Jrerer,
g, Jfér arate, Ares, vga, W o gu e & fore wah fman w1 v B
IS F Y 3T UPR § - 98 WOR & 37 fHelt oft Jreq $t g § ok @ 9 aei
¥ UGT IHdT §; TIPS STDIRA] B TIT A FHATINT B THdT § 3R UeTHd Iar
21 T8 FPReRY 9% uga Iovar 3 3R I~re fAftfa &% 9ear @ vd w1 s91e @ 9oar g1
IEA F T A $o ™R T 39 THR §: TR giaurt Faa Hiia i @ Suas
8, fawr ot fear w1 aiss wwg Hifta gar g, TARe & 91y ufaegyf § ura: gR ot
2, TRUmHY W TR 7@ 134 2, AR deiie Pt srazaddr @it 2, urfior sare) §



ﬁgﬁwﬁﬁzﬂﬁ%’,eﬁvmmmmwm%ﬁﬁgﬁqﬁwaﬂﬁgﬂ
|

Total radio stations in India are:/ HIRd i Wiﬁﬂﬁ @'QF-T%
1. 150
2. 402
3.204

4. 540

Correct Answer :-

« 204

5) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz & wFyde ygs 9@ i @4 T sgfawed u=x-i & w&t
fawey &1 79 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST YRT Bt F TAHET F TATHT 98% P HaX Bl 81 TP 204 WA ¢ o d |
150%%@%%@?54%%%%%%@@ 100% s
Ugd a1dl, 99 YUR $T TH dopTd ATHH 8, W URd # e 3 U, $5ued qU=R
gafed ik fratt el & Hia & srarar ero=r 1 g urw T forar 81 |t vy
YR yTaTait iR diferal & 77 auf @ WIRUI & 9Ta9[g, 98 3l a& W4, ¥, samurR
a1 fe-ufafem 3t wve ar=garsit 1 R U S IRife 99ER |@id aafae df §



T8l a9 91 21 ST TP 95 o A1 3| U ABA 8, AAUTIH & MR i oft g
gTaifer 39 faga 3191 37 & forw v =8 #- g 81 39 doHi/quTeH, el & Tdfta
o, ArEREl @ IuaSET, SHHdal R e & a8 | FEAre a1 JrHeeal, id 9
Hefta daraf=ai, I & e, FHrER), feae O Jeafta guer aftene, aarer,
wyrafal, dféra araten, Arest, vgae, Wit ok gu el & g wah fosan < g 81
IS F TH 3 UPR ¢ - 98 R & 37 fHalt oft Jreq Ft go=n A et @ a9 aeh
Y USd 9P §; AATaAD JAFSIRA] B THT A TATRG B gHdl @ 3R SrUemdd Jwn
21 T8 fFReRY a% ugda Ioar § 3R I™re fAftfa #= Joar @ ud 3 991 9 g 3
A F T B $o ™R U 39 TeR §: R giaurt daa S i | Suas
3, fowR &) fear mn Rretss awa Wifia grar 5, A-ReA & 91y ufawayf & wra: gR e
2, TRUImHY W TR 7@ $ied g, ARty deiie Pt srazaddr gt 8, arfior sare) |
W;@Tﬁﬁfﬂﬁﬁ,aﬁvmmmwﬁlﬁwﬁﬁa%ﬁww%ﬁ
Tqad

Which type of media is radio?/ &4 {5 UeR &1 A10H 82
1. Individual medium/ Jufaas Aty

2. Mass medium/ S HIZIH

3. Group medium/ JHg HIIH

4. Single medium/Ushd HIETH

Correct Answer :-

« Mass medium/ S HIIH

6) DIRECTIONS: Read the passage and answer the questions that
follow./ fAdzr: FafifEd e & eaFyd® yes: 39 4 33 T sgfawed! u=ai & 98t
fawea &1 a7 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio



are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST URT Bt Fo FTAHET F TATHT 98% P HaX Bl 81 TP 204 WA ¢ ford |
150%%@%%&54%%%%%@%%@% 100% s
Ugd 91dl, SIF YOR $T TP dopTd ATHH 8, W URd # S 3 TR, $5aed TU=rR
gafed ik fratt fial & Hia & srarar sro=m 1 G urw & forar g1 |t v
YRR yTaTait iR diferal & 77 auf @ WIRUI & 9Ta9[g, 98 3l a& W4, ¥, samurR
a1 fe-ufafem 3t wve ar=garsit 1 R U S IRife 99 |id aafae df o
T8l 91 IP1 31 XfSU TP 9gd AW HIHH g1 U ADIY §, WU 8 SR vrHae ot g1
gTaifer 39 faga 399 37 & fore v =8 #- b &1 39 doH! /g1, el § Tdfta
Tyone, ARl @ IuaSeT, SHHdal ! 3fe & a8 | FEAre a1 SrHeTal, id 9
Tefta daraf-ai, I & e, gHrErR], fear O Jefta gurer aftene, anarer,
wyrafal, dféra araten, Arest, veae, Wit ok gu el & g wat foran i g 81
I F TH 5T UPR ¢ - 98 TR & 37 fHadt ot Jreq 5t go=n # e @ a6 aeh
Y USd 9Pl §; SATaRAD JAFSIRA] B THT A TATRT B ghdl § 3R SreTdd Jwn
21 Ug FPReRY a% ugd Iar © 3R I™re fAftfa &= Jar @ ud 3 991 g g 3
A F T B $o ™R Ut 39 TR §: TR giaurt daa Sia i | Suas
8, fawr &t fear mar raiss aug Hifta giar 8, wARkes & a1y ufagdf & ura: g o
2, TRUMH W FeR T B 8, fady de-iie @ smazgsar gidt 8, arHior sare §
wfm;wﬁﬁzﬂﬁ%}sﬁ?mmmmwvﬁﬁa%wﬁwaﬂﬁgﬁ
q&ad

Radio is:/ 3f&at g1 3

1. Fast/ a9l

2. Popular pleasing/ MBI 3R ATHTIA
3. Exciting/ JHA®

4. All of the above/GCPjTﬂ Tt

Correct Answer :-

« All of the above/T:FCPjTﬂ Tt

7) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FafefEa Tz &1 wFyde ygo 39@ - @4 T sgfawed u=-i & w8t
fawe &1 999 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,



trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

A URT B T TAUBIT & TTUT 98% I HaR HIdT 81 HP 204 RIH ¢ forqw I
150%%@%%@?54%%%%%%@% 100% e
Ugd 91dl, 99 JOR $T TS dopTd ATHH 8, W URd # e 7 TUERl, $5aed guErR
gﬁﬁ?eﬁ?ﬁmﬂwﬁﬁ%@a%mmwmdmﬂﬁm%mmﬁm
YR yTaT3ii iR diferal & 77 auf @ WIRUI & 9Ta9[g, 98 3t a& @A, $i¥, R
Tyt fea-ufafeq &t g ar=arsi 1 W 9 d TRiRe 99ER did aafas sl &
T8l 991 91 21 ST TP 95 o A1 3| T ABA 8, AAUTaH ¢ MR i oft 3
gTaifer 39 faga 391 37 & frw v =8 #- g &1 39 oHi/guTei, el & Tdfta
Tyonse, ARl @ IuaSET, SHHdal R fe & a8 | e a1 SArereal, 7d 9
Hefta daraf=ai, I & ey, gurER), feae 9 Jeafta gurar aftene, aarerl,
wyrafyal, dféra araten, Arest, vgae, Wit ok gu el & fg wah fosan < g 81
IS F TH 3 UPR ¢ - 98 TR & 37 fHeft oft Jreq 5t goan # o @ a6 ash
Y UST 9Pl §; SATaRAD JAFSIRA] B THT A TATRG B gHdl @ 3R SrUemdd Jwn
21 T8 fFReRY a% uga I § 3R I™re fAftfa &= 9oar @ wd 3 991 9 g 3
A F T B o ™R U 39 TeR §: R gRAurt daa Hiia R | Suas
3, fowa 31 oo man Rreics way Wifta ghar 3, 9AReH & w1y ufawayf & ura: g sman
2, TRUImHY W TR 7@ $ied g, Ry deiie Pt srazaddr gidt ®, arfior saret o
myﬁ%ﬁﬁ,ﬁmmmmwm%ﬁww%ﬁ
qad

Radio is used for announcement about:/ IS4 &1 ITART Jq Tefia
myonsit & fore forar wirar @:

1. Meetings/ W/Hﬂﬂe—ﬁ

2. Demonstrations/ U&RHI

3. Outbreak of diseases/ IM & YT
4. All of the above/Iudad Tt

Correct Answer :-

« All of the above/3Iudad Tt



8) DIRECTIONS: Read the passage and answer the questions that
follow./ fd=r: FaffEa weiv &1 wFyde e 9@ - @4 T sgfawed u=-i & wdt
fawey &1 799 B3I

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

ST YRT B Fo TAHET F ATHIT 98% P HaX Bl 81 TTP 204 WA ¢ ford |
150%%%%@?54%%%%%%@% 100% Wfe®
Ugd aTdl, 99 WOR $T TP debTd HT1HH §, W URd ¥ f$a I IR, $=iaed IaRR
gafed ik fratt fial & dia & srarar sro=r 1 g urw T forar 81 9t vy
YRt HTaref SR diferal ¥ 77 auf & R & 91a9[g, I8 W 9% WA, $iY, IR
a1 fea-ufafeq 3t g ar=uarsi o1 RFY 9 d YRS 99ER Jiq aafas odf |
T8 91 TT 1 IS TP 9gd AW HIAH 21 U8 WIPid 8, HTHTa @ SR SHiwe ot 21
graife 39 favga 319 37 & fore uah T =8t o 9od €1 3/ Sodl /qursh, yeRl ¥ Jefta
ayons, IRl & Iuasar, Sl T fe & I & e a1 Sraeval, fiad @
Yafed Jarafmal, 0 &y, HER, A @ Jafta guerR aHianst, Jrerer,
g, Jfére arated, Ares, vga, W o gu R & fore wah fpan = e 31
IS F TH 3T UPR § - 98 WOR & 3= et ot Jrem $t g § ol @ 9 aei
¥ UET IHdT §; TP SFDIRA!l B THT A FHATIRT B THdT § 3R MUeTHd Iar
21 T8 FPReRY 9% uga Iovar 3 3R I~re fAftfa &% 9ear @ vd w1 s91e @ 9ar g1
A F T A $o ™R T 39 THR §: TR giaurt Faa Hia i @ Suas
8, fawr &t fear mar raiss wwg Hifta g &, TARe & 91y ufagyt # ura: gR ot
2, TRUmHY W AR T 134 7, ARy deiie 3t srazaddr @it 2, urdior sare) d
ggﬁ%ﬁﬁ,ﬁwmmmwm%ﬁmwﬁw
|

Radio is considered as:/ IfEar &1 CIGIRSIGH %:



1. Relatively cheap/ &rﬁrmm

2. Very costly/ Sgd Hgm
3. Quite boring/ dgd Bicss|
4. None of the above/SWRIad # ¥ &5 gl

Correct Answer :-

« Relatively cheap/ &rﬁ&rmm?n

9) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR f3d T sgfawadt uzei o w8t
fawey &1 799 B

Radio covers nearly 98% of the total population of India with 204 stations,
out of which 150 are medium wave transmitter and 54 are short wave
stations. Though an instant medium of mass communication with nearly
100% geographical reach, radio in India has not attained its full potential,
except as a source of spot news, centralized news bulletin and film songs.
Despite 77 years of broadcasting in all major Indian languages and even in
dialects, it can become a true a locally relevant news on health, farming,
trading and other news on day-to-day household values. Radio is a very fast
medium. It is popular pleasing, even exciting. However it cannot used to
convey detailed knowledge. It can be used for announcements about
meetings, demonstrations, intimations or information regarding availability
of materials, prices, places etc. Warning related to weather, outbreak of
diseases, news stories, news reviews about farmers, etc. interviews,
question and answers, short talks, play, skits, features and documentaries.
Advantages of radio are-it can reach more people more quickly than any
other means of communication; can disseminate timely and urgent
information and is relatively cheap. It can reach illiterates and build
enthusiasm and maintain interest. Some severe limitation of the use of radio
are: broadcasting facilities are available only in limited places, recorded
time assigned to extension is limited, frequent looses out its competition
with entertainment, difficult to check on results, requires a special
technique, not enough sets in rural areas and influence is limited to people
who can listen intelligently./

U YRT B Fo TAHET F ATHIT 98% P HaR Bl 81 TTP 204 WA ¢ ford |
150%%%%@?54%%%%%%@% 100% Wfea®
Ugd aTdl, 51 WOR $T TP debTd AW §, W URd § fea I IR, $=iaed IaRR
gafed MR fireht Wil & wa & sramar srom T JmA ura =8t fear 81 Ot v
YR yrare SR Siferal & 77 auf @ WRU & STav[g, gg ol a@ WA, $fY, s
a1 fe-ufafem 3t e ar=garsi 1 R ¥ S IRife 99aR |9id aafas df o
T8 99 91 21 IS TP 9gd o WA 21 U8 AP €, AU ¢ 3R AT off
BTdifep 39 fagd 99 37 & e v =8f #R G &1 39 o1 /T, vemHl & dafta
ayons, IRl # Iuasar, Sl T fe & I | JEArs a1 Sraeal, fiad
et Jaratral, I & uHig, JHERT, fPaml & Jafta gumar aienst, R,
sy, dfdra arataf, Arewd!, wea=l, Bied iR gu el & fore v fovam < qwar 81
I & Y 3T UPR § - g GAR F 3= fdt off wrem o gaen & siftes @ a@ asht



Y USd 9P §; AATaAD JAFSIRA] B THT A TATRT B TPHdl ¢ 3R SrUemdd Jwn
21 Tg fFReRY a% ugda Iar © 3R I™re fAftfa &= Iar @ ud 3 991 g g 3
I & T B po ™R FHTE 39 R 7 TR iAure daa it i § Sudasy
3, fowr &) fear man Rreiss awa Wifia g 3, 7-ReA & 91y ufawayf # wra: gR s
2, TRUImHY W TR 7@ 313 8, ARy deiie $t srazaddr gt ®, arfior saret A
mfm;'@nﬁﬁfﬂﬁ%}aﬁvmmmw%ﬁwvﬁﬁm%ﬁWWQigﬂ
q&d g

Limitations of radio are:/ ¥fsal & AT §:
1. Not enough sets/ Taia ¥ & e gl gl

2. Require special techniques/ﬁ'-‘ﬁq dd-idh Bl ATTID ]

o

3. Difficult to check on results/ GRUTHT TR ToR W& § B3
4. All of the above/3dad Tt

Correct Answer :-

« All of the above/3udad Tt

10) DIRECTIONS: Read the passage and answer the questions that
follow./ fdzr: Fafefad e &1 wryde yeo: Su@ 1 f3d T agfawadt uxei o w8t
fawea &1 a9 B

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

AR & 3 Weg FRIAIGIA F1 Afew g “wrgiRr F forar wan @ Rraer ok @ emm
a1 |ren’ | g8 famry, awt, wal, yransht a1 Taal &1 WY ue 3P Srafhar g1 99,
W dhdi & geR A deard a1 A Hgayul Yfiret fAurar 8198 st wdiel, dddl, serl
T HTf F ©U A 8 Ghdl 81 g AN & ATead A H1d HIaM BT Y=~ g 8| Jad: GaR
P ug U}, "W, Tdhat, A (W), fAdrsT (SfEm), urasal, w1t v ufegfy
STIRTEHAT el 81 TE WS TF ufagfY VoA &t te Tad ufshar a1 9% 8139 TPR J9R
ST, R, 333, yransit SR THe-ATIRI & STH-URT & 3= |1 & T HIA BT



TS SN[ YT 81 TOR a9 YHTA BT @ 919 "Rl Uh-gax & gIRT |aren & foram 9 ok
e forar sie| afe urcedl SFeRl & St I o & A8 gweEr @ o erfiurg §

RG] A 3T VST T Y I8 JIR 81 81 HTH T=R & fie ug 3mawgs T8} fo urasal
SR ¥ HgHd 8 g a1 38 TR &Y g1 gfe ddxr gwer forar wam g @) ga-n vt 21
g AIHTr ot B THdT 81 T UPNR, 3 AR H W B =S qH I4141 ;A 21

What type of process is Communication?/ §dR foa uprR ot ufeean %?
1. Continuous Process/ Tdd Ufehar

2. One-way process/ Tdh-dRWb Ufdhar

3. Social Process/ STHIfS® Hishdm

4. Psychological process/IFﬁaSITﬁE gfeear

Correct Answer :-

. Continuous Process/ Idd Ufshal

11) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 3@ AR 3 M sgfaw«dt uzi & w8t
fameu 1999 S

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3Tl Weg FRIHIA B Afe Weg g’ A foran man 8 foraer ord 3 ema
a1 gT3’ | gg faamy, aw, #al, HTaTS a1 I39! BT GHET Td Sl S=IfhaT 81 IR,
Wadhdl & qagR # geard @ | Tgayul Yf¥reT fFurar 3198 visgl, wdiel, ddal, Siart
T Al & U A g HdT g1 T8 dN & JA1ead A 1 Harq & Yo gd g Jad: JaR
Fd U UHl, ", "ohdl, AN (IT9), fawpred (SrwfEm), wrasal, w1t wd ufaygf® @
SATARIHAT Bt 31 Tg e TF Uiy Ao &t U Fad ufehar a1 9 3159 UhR "aR
SR, faER, 383, yras 3R THe-AToRT< & STH-URT & 3= AN & T HIA BT
TP SN]d 94T 8| TaR a9 YUTA! BiaT § I ISR Th-gax & gRT AT R foram og 8fik
Tuz forar wire | afe wrawal set @ St S o A FF wwsar @ oy erftumg



TORPdl 3 I° VeIl YT 1 98 IR 81 g1 THTH IR & oY a8 Smaxas 3] b urcaedt
WHeR! ¥ 9gqd 8l 8 1 34 WeR &Y g1 afe dex gae forar wam § o sa+1 vt |
g JTHRr B AhdT 1 3 UPR, 3 HOR | HeW I =S GHeT g441 i g

Communication changes the behavior of: /HdR DI YdgI} dgddl %:
1. Extension worker/ﬁﬁl?aﬂ:ﬁ
2. Receiver/ UT&&dl

3. Communicator/ IdR®

4. Leaders/~qadmdiaf/~draf

Correct Answer :-

« Receiver/ UTd&dl

12) DIRECTIONS: Read the passage and answer the questions that
follow./ fézr: Faferfad e &1 wryde yee: 39@ AR fd T sgfawadt uzei o w8t
fapeu &1 g HI)

The word communication is derived from a Latin word “"Communis” which
means common. It is transmission and interacting of ideas, facts, opinions,
feelings or attitudes. Communication plays a vital role in changing the
behavior of the receiver. It could be in the form of words, symbols, signs,
letters, or actions. It is a tool of management to get things done through
people. Essentially while communicating there is a need for transmitter,
message, symbols, channels, decoding, receiver, action and feedback. It is a
continuous process or cycle of sending message and feedback. Thus
communication is a conscious attempt to share information, ideas, attitude,
feelings and liking with other people around. Communication is effective
when the message is shared and understood by each other. There can be no
communication if the receiver is in the same sense does not understand the
information as it was intended to by the communicator. For effective
communication not necessarily the receiver must agree or accept the
information. It is sufficient if the message is understood. It may either be
rejection. Thus, good communication consists of creating understanding of
message./

TR & 3Tl g FRIIHIF B Afe Weg g’ | foran man 8 foraer ord 3 emm
1 g’ | g foamry, 9w, wal, HTaare a1 vau) 1 GWIveT ug 39@! =afhar g1 IER,
Waddl & sadeR § dearg aM & gayul YfreT fHuTar 8198 2real, wediel, Jdbal, srerl
T AT & U H g1 HdTl g1 T8 AN & ATeaH A S Har & G- gd gl Jod: TR
od gy Aft, Tz, HHat, 7wl (3T), e (SrdifEm), wraewal, st ve ufogfd @
SATIRTHT gid! 1 T§ ISR Td ufagf® o o1 U wad ufshar a1 9 3139 TR JaR
SR, faER, 348, HTaaTsll i Tg-ATud=< &1 ATH-UTT & 3= AN A TSN HI1 BT
TS SN[ YT 8| TOR a9 YHTA BT 8 91d HexT UHh-gax & gIRT 913 & foram 9 ok
e forar e afe uraeal SeT @ St I o A 7S Iwerar @ o siftruma #
RG] A 3T VST AT Y I8 JIR 81 81 HTH T9R & fie ug 3mawgs T8} fo urasal
SIS § TgHd 8 & 71 3q TR # &1 afe Tdxr guer forar mar g @) g9+ vt 21
g AIHRr ot B THdT 81 T UPIR, 3 AR | W B =S FH I4141 ;A 21



Communication is derived from:/ R Wﬁﬂ?&’ﬁ, Uh 3 forar mar %:
1. French word/ %d Xsq

2. Greek word/ U Use

3. Latin word/ @fd=! Teq

4. German word/SH Teg

Correct Answer :-

« Latin word/ @It Xsg

Topic:- Grad_Child Care and Education

1) Theories of learning are [ sfagra_ 8§
1. Theory of trail & Error/Ud=d 3R %Wﬁl@?

2. Insight Theory/ﬂ@ﬁﬁ@l*_d

3. Imitation Theory/3fJ®HR0l &T Rig

4. All of the above/IWRIed T+

Correct Answer :-

« All of the above/IWRIad I+

2) Factor affecting process of learning is:/3Ta® & J@1 $ ufshar & yuTiad $31
I I T 8 &

1. Motivation/URUT
2. Reward/QRIHR
3. Praise/U=™T

4. All of the above/IWRiad gHt

Correct Answer :-

o All of the above/mﬂﬂ Tt

3) Personality is related to:/ dfdia fpad Jafia giar 8:
1. Physical/XI IREY

2. Motor/fhaTcH®



3. Persona/ERﬂﬁT
4. Emotion/“éiaﬂ

Correct Answer :-

« Persona/U3dI

4) child welfare schemes are: /9Td HedT0T YISHTT 8:

1. National child board/IT< 1T §Td Sls

2. Integrated child development services/ A ST [AHTH IaT ISl
3. National child policy/mw:ﬁﬁ

4. All of the above/IWRIad i

Correct Answer :-

« All of the above/IWRIad g4

5) AIMS of early childhood education is:/qﬁmuﬁﬁ? ﬁtr&rr WG%‘SRI C2) %:
1. Development of Interest in learning/I@ & Ufd T ST HRAT

2. Development of Aesthetic sense/dl<d a1y &1 fabTd

3. Development of Creativity/JS-THD T hT CEAES)

4. All of the above/IWRIad It

Correct Answer :-

« All of the above/IWRIgd I+

6) Psycho drama used for the treatment of / HA ST BT U
SR & ford fopar STt @

1. Delinquency/dTdl SURTY
2. Abnormal Children/3ITHTY dlcddh
3. Problem Children/JHITH® dlcidh

4. Mentally Retarded Children/IIv—c{Ej@W

Correct Answer :-

« Delinquency/dTd URTY



1. Common child/ITHT dTd® &1
2. Backward child/fUss dTd® &1
3. Retarded Child/55 §fg dTcid &l

4. Gifted Child/WR gfg aTci® BI

Correct Answer :-

« Backward child/fUse sTd® &I

8) Maturation & Growth cycle are determinants of /mﬁq@ﬂﬁ
¥ fulRe aa g:

1. Development/ﬁﬁﬂ
2. Growth/@'@

3. Heredity/d=IIIshH
4. Environment/drdrdaeul

Correct Answer :-

« Development/fd®r

9) Out of the following after birth child do various physical activities: /STH

uzard g frafafea 3 9 o1 9t wrfifve st sear e:
1. Heat Regulation/ﬂqu?ﬁtiﬁUT

2. Develop Immunity Power/IT UfcRIY® &HaT &1 fawr
3. Digestion/Ura fedr

4. All of the above/IWRIad It

Correct Answer :-
« All of the above/IWRIgd I+
10) CANCELLED

Special instructional material is made by: /WWWW%WW
Hﬁﬁﬂ?ﬁ%:

1. University Grant commission/fd=afdured 3fdald 3TN
2. Integrated Education in India/%ﬁﬂ'ﬁmﬁ&ﬂ

3. UNICEF/g %
4. All of the above/GClﬁT:R-I Tt



Correct Answer :-

« Integrated Education in India/HRd H AT e

11) 10 days Infant is called as:/10 ﬁ‘l%ﬁd{[ﬂﬁﬁﬁ%
1. Child/fRig
2. Neonate/wﬁrﬂ

3. Abnormal Child/3{THTY dIcidh

4. None of these/‘a’ﬂﬁ@faﬁé:ﬁﬂ'

Correct Answer :-

« Neonate/dqITd R

12) Is XY Chromosome are sex determination?/ 91 XY siaraH ot fArefvor swd

?
1. Right/Tg!
2. Wrong/Tald

3. Partially Wrong/ 3{ifR1& Tiaid
4. None of these/ﬁﬁ@faﬂéﬂﬁ

Correct Answer :-

« Right/9g!

13) Problem child is /AT 9P ©

1. Who steals/%ﬁﬁ?b_ﬁ?ﬂw

2. Who is lie/g stcH aral

3. Who disobey parents/ﬂTﬂTﬁlﬁTWWqW
4. All of the above/JWRIed T+

Correct Answer :-

« All of the above/IWRIad

14) Characteristic of development is / ﬁwmaﬂﬁﬁwr& @?ﬁ%
1. Directional/feemTd®

2. Progressive Series of change/WRTidRiteT $ael



3. Orderly/pHd&
4. All of the above/IWRigd gHt

Correct Answer :-

« All of the above/3URIad IH

15) Hyperactivity & Disorder of attention is characteristics of which special

children:/ 3rfafsrarziiear aur sraem &t srd-arwdar fooa fafdrse sTae ot favar 8:
1. Learning Disabled/&mﬁﬁ'ﬂl

2. Backward Child/fU&< S1ad®

3. Gifted Child/¥fHTaT dTed

4. Delinquents/dTd SoRTE

Correct Answer :-

« Learning Disabled/3ifermH =R

16) Who is founder of pre-school education?/ Jd mag g & s=gar &9 &2
1. Mother Teresa/Hax cXdl

2. MC Millian Sister/H& e g8

3. Gandhi ji/Tiel STt

4. Bandura/sSgX

Correct Answer :-

- MC Millian Sister/HTHeH a8

17) Special facilities for orphan children is: /314 5= & gq faRw Jraurd w gt
e

1. Pre-School Programme/qj-wm
2. Reading Improvement Programme/Ud- ﬁﬂl?ﬁ’l\_ﬂ:ﬂ
3. Comprehensive Programme/W?ZﬁTxﬁT

4. All of the above/IWRIad gt

Correct Answer :-

« All of the above/IWRIgd IH



18) Life vitality of child come in which month:/ R3] @1 sfta= gmar foa arg o
SI'I'cﬂ%:

1. 7 Months/7 HIg
2. 5 Months/5 HIg
3. 6 Months/6 HIg

4.4 Months/4 Hlg

Correct Answer :-

« 7 Months/7 HIg

19) Which are the basic principles of special education: /=y e %H\H‘lﬁr
R oaas:

1. Tutoring in functional skiIIs/WWWH&[&IﬂT

2. Emphasis on individualized Instruction/otchTrl‘ld 31:1,3-‘0-1 R dd

3. Emphasis on awakening of the child senses/@ﬂﬂﬁ%ﬁaﬁ&ﬁaﬁﬁmaﬂﬁﬂaﬁ
4. All of the above/IWiad G

Correct Answer :-

« All of the above/3JuRlad G

20) Age of Neonate is:/=auiTa R Ft 31y frat gl 3:
1. 10 Days/10 f&

2. 20 Days/20 faa

3. 35 Days/35 faA

4. 45 Days/45 f&A

Correct Answer :-

« 10 Days/10 faq

21) Characteristics of creativity is:/maﬁw fa=iyar gt e
1. Process/m

2. Goal Directed/d&d TSR

3. Create/Jqiq
4. All of the above/IWRlad gt



Correct Answer :-

« All of the above/IWRIdd Tt

22) What are functions of UNICEF:/gf*i% & &Td &7 &:
1. Child Nutrition/fRg] diyor

2. Child Health/RIg W@reg

3. Child Education/fRrg] fRigf

4. All of the above/IURIdd g

Correct Answer :-

« All of the above/3JtRiad i

23) Orphan homes are ./ SATYTEYg Jaqro gl @
1. Institutional Services/IITHD JdTd

2. Non Institutional Services/3RRIHD AT

3. Institutional & Non Institutional Services/IRIA® Td AHARITHD JdT0

4. None of these/éﬁﬁ@[ﬂﬁéﬁ

Correct Answer :-

. Institutional & Non Institutional Services/IRITH® Td RTRITHD JdTd
24) NEONATE means: /7auTd &1 e 1Y §:

1. New/ a1

2. Child/d<dl

3. Beautiful/J<X

4. Face/dg1

Correct Answer :-

o New/dl

25) What are the factor responsible for plateau of learning: /J G $ TR &
PRSP &

1. Polluted Environment/g/¥d ardraxul

2. Less 1Q/faafs &1 &Y g



3. Not Paying Attention/$aTH = TIHI

4. All of the above/IWRigd gHt

Correct Answer :-

« All of the above/IURIdd FHt

26) Genetic diseases is related to:/3Jaif¥® I fFraR Tefima giar 3:
1. Hemophilia/feAitefemn

2. Hypertension/ET's'QQ%:EZT:[

3. Fibrosis/qv‘lg_sﬁm

4. None of these/3TH I P15 g

Correct Answer :-

« Hemophilia/fgHiTtsferar

27) Main characteristics of childhood is:/ mﬁg@ﬁlﬁwwﬁ
1. Curiosity/ s

2. PIaying/@FﬂT

3. Reading/UeHl

4. Talking/dTd ST

Correct Answer :-

. Curiosity/ﬁrﬁﬂm

28) Percentage of Hemoglobin in Newborn/7duTd Ya&d # A aifa= ufer=ra g 8-
1.17-19 Gram/17-19 UH

2. 19-25 Gram/19-25 UTH

3.12-17 Gram/12-17 YH

4,9-12 Gram/9-12 J1H

Correct Answer :-

« 17-19 Gram/17-19 UH

29) What is the full form of NIPCCD:/NIPCCD &T QRT AITH FIT §:



1. National institute of public health and child development/mwﬁﬂ'[@aﬁ%m
BRIIE]

2. National child policy/Is T &Td Hfifd
3. National child board/IT< g 1@ &1
4. None of these/sqﬁﬁaﬁ'sc:iﬁ

Correct Answer :-

« None of these/378 I ®Is gl

30) Ma-Ma-Cha-Cha sound is related to:/ |1 |7 dT T =4l fead el &:
1. Babbling/dddE1

2. Gesture/gldHId

3. Comprehension/ 3fi®ad fad
4. None of these/3TH T ®I3 g

Correct Answer :-
« Babbling/dddl
31) CANCELLED

Pulse Polio programme is started at /9 diferal ST ot IR Be

g o

1. 2 October 1999/2 3fa¢sR 1999

2. 10 November 1980/10 9%k 1980
3. 3 January 1998/3 SHdsl 1998

4.10 April 1997/10 3/0d 1997

Correct Answer :-

« 2 October 1999/2 3{d¢sR 1999

32) Effect of Heredity is:/dRITHH &1 YHTT FT 84T &
1. Physical Qualities/IRIR® &0l

2. Social Status/JTHISh &R

3. Character/aiA

4. All of the above/IWRIe T+



Correct Answer :-

« Physical Qualities/RIR® A&

33) Gross movement and fine motor skills is related to:/¥Jd Tfafafral aur J&a
g S frad H@afta 81d @:

1. Motor Development/fdharcdd famrd
2. Physical Development/R IR fawr

3. Social Development/v{-lll-lllr\\sioh LR

4. Emotional Development/Iaid® fa&mm

Correct Answer :-

« Motor Development/f&ard® fds™

34) Law of Mendal is related to:/9vsd &1 foraw A Jdfia §:
1. Environment/dTdrdrul

2. Heredity/d=IIIhH

3. Learning/IRaAT

4. Exercise/3Y™

Correct Answer :-

« Heredity/d=TI%H

35) Fetus life depends on:/ ﬂWﬂT{[\‘rﬂﬁqﬁl‘lﬁW%—
1. Fallopian tube/av_cﬁﬁ'qqﬂﬁflﬁ

2. Placenta/3{Ux1

3. Nervous system/31g HUSA

4. All of the above/IWRIad gt

Correct Answer :-

« Placenta/3Ux1

36) Theory of regional learning was given by:/ e &1 &g g feas grT
fear mar 3:

1. Kohler/m



2. PavIov/ﬁIﬁEﬁ
3. Lewin/difad
4. Piaget/fS/arsie

Correct Answer :-

. Lewin/dfaqd

37) Main AIMS of Viklang punarvas Anusandhan Yojana is:/ﬁ%—dﬁgﬁﬂm
ST IS BT Y= d&d T gl o

1. Integrated education/IHfod &
2. Normal education/STHr= fRi&f

3. Distance Education/Wﬁ?ﬂ fRrefm
4. All of the above/IWRIad i

Correct Answer :-

. Integrated education/IHfdd fRuem

38) Stages of speech development is:/HTuT AT Hf s@RMT g
1. Pre Speech form of communication/UjﬂTﬂ'ﬂ'UT

2. Speech form of communication/aRdidd YT &1 S afaaar

3. Both of the above/3JURIad Gl

4. Defective Speech/aINqul HTST

Correct Answer :-

« Both of the above/IWRIad il

39) In Infancy girls child weight is than boy/ ATIRIT H FIFABT BT HR
EIRE gl &-

1. Less/®H

2. More/Sdral

3. Equal/sRTaR

4. None of these/sﬁﬁ@faﬁéﬁ

Correct Answer :-

e Less/HH



40) Age of Pre-Gang is:/qdaiai BT 3mg &
1.3 to 6 Year/3 ¥ 6 U@

2.2to 5 Year/2 ¥ 5 9Id

3.6 to 10 Year/6 ¥ 10 9Td

4.6 to 12 Year/6 ¥ 12 91d

Correct Answer :-
« 3t0 6 Year/3 ¥ 6 9@
41) CANCELLED

Integrated education plan was started in /aRfea Rigm aie=n
H Uy fomar -

1. Year 1981/9Y4 1981
2. Year 1982/d% 1982
3. Year 1994/d% 1994

4. Year 2001/9¥ 2001

Correct Answer :-
« Year 1981/9Y 1981

42) special educator & school are for children/ faRiv Rignfag aur wpa
el & ford 3

1. Normal Children/dTHTY &l

2. Exceptional Children/fafRme sTas

3. School Children/¥g d dlcid

4. None of these/378 A &S gl

Correct Answer :-

« Exceptional Children/faf2mse srd®

43) Which are the basic concept of child development:/ aTd fd®™ & gayd
U T 3

1. Characteristics of Development/ﬁwﬁﬁ'@w

2. Difference between Growth and Development/ﬁWQﬁq@ﬁ 3R



3. Principles of Development/ﬁW%ﬁ?ﬂ
4. All of the above/IWRiad Tt

Correct Answer :-

« All of the above/IURIdd FHt

44) Kinder Garten teaching material is:/ fpusy T ugfa & Rieror arEh 8:
1. Gift/3UsRR

2. Mother PIay/WFq’@F[

3. Song/TﬂFT

4. All of the above/IWRIad i

Correct Answer :-

« All of the above/ECIﬁTﬁ Tt

45) Period of infancy is:/AddITd fﬂT{[?ﬁ 3rafty fpa-t gidl 8:

1. Birth - 2 Week/S<1 ¥ 2 9wTg

2. Birth - 6 Week/S ¥ 6 98

3. Birth - 5 Week/S<1 ¥ 5 I8

4. Birth - 8 Week/S ¥ 8 T8

Correct Answer :-

« Birth - 2 Week/S 9 2 I



